
 

Adv. No. 11/2019, Cat No. 01, Junior System Engineer, 

DHBVN, UHBVN & HVPNL DEPARTMENT, HARYANA 

Morning Session 
 

February 27, 2020  Page 1 of 29 

 

Q1. 

 

 

A.  B.  

C.  D.  

 

Q2. 

 

 

A.  B.  

C.  D.  

 

Q3. 
 

 

A.  B.  

C.  D.  

 

Q4. 
 

 

A.  B.  

C.  D.  

 

Q5. 
 

 

A.  B.  

C.  D.  

 
 
 

www.mseducationtv.com



 

Adv. No. 11/2019, Cat No. 01, Junior System Engineer, 

DHBVN, UHBVN & HVPNL DEPARTMENT, HARYANA 

Morning Session 
 

February 27, 2020  Page 2 of 29 

 

Q6. ____________ is the synonym of 'PALATABLE'. 
 

A. Substandard B. Inferior 

C. Wretched D. Agreeable 

 

Q7. The antonym for 'DELICATE' is _______. 
 

A. coarse B. refined 

C. exquisite D. elegant 

 

Q8. 'Shedding Crocodile tears' means _______________. 
 

A. be in trouble B. insincere display of emotions 

C. be nervous D. find the hidden meaning 

 

Q9. The sentence has an incorrect phrase, which is shown in bold and underlined. Select the 
option that is the correct phrase to be replaced so that the statement is grammatically 
correct. 
 
The minister met the manager and he recognises him. 

 

A. would recognised B. shall recognised 

C. has not recognised D. recognized 

 

Q10. Complete the sentence by choosing the correct word from the given options. 
That you are drunk while driving, aggravates your _________. 

 

A. skills B. technic 

C. offence D. features 

 

Q11. Nalanda University, which was the centre of higher education in ancient India, is located 
in __________. 

 

A. West Bengal B. Bihar 

C. Uttar Pradesh D. Delhi 
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Q11. )?ल�.? =?�=?o?ल0 �K �?�I) .?1, /O �चᩍ� =?�? �? �O � /?)? �?,? -?, ______ /O =--, :P| 
 

A. +��?/ -
�?ल B. --9?1 

C. �्䵈1 �/O? D. //ल㉍लI 
 

Q12. The South Asian Games 2019 was held in _______ during 1st December to 10th December, 
2019. 

 

A. Sri Lanka B. Nepal 

C. Bhutan D. Bangladesh 

Q12. .=�+ �=?0?� �Oल, 2019 �? �0K�) _______ /O 1 9O 10 =.9�-1, 2019 �O  -I� :ु� -?। 
 

A. ्䵦Iल
�? B. 1O+?ल 

C. .�ू?1 D. -?
_ल?/O? 

 

Q13. Which of the following Indian states produces maximum manganese? 
 

A. Odisha B. Uttar Pradesh 

C. Andhra Pradesh D. Bihar 

Q13. =)म⹍)=ल=�, /O 9O �L) 9? .?1,I0 1?जᱍ0 
=?�,/ /ै䠂�)I� �? �m+?.) �1,? :P? 
 

A. �)??? B. �्䵈1 �/O? 

C. �
्䵗 �/O? D. --9?1 
 

Q14. Who was elected as the President of Sri Lanka in the recent (2019) elections? 
 

A. Maithripala Sirisena B. Ranil Wickremesinghe 

C. Gotabaya Rajapaksa D. Sajith Premadasa 

Q14. 2019 �J)??ो䬂 /O ्䵦Iल��? �O  1?�र+=, �O  z+ /O =�9O �J)? �0?? 
 

A. /P-?+?ल स?91?O1? B. 1?)1ल =?्䵅/स?
 O 

C. �K--0? 1?�+�O D. ?�I. �O//??? 
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Q15. Which government introduced the odd even scheme, to combat the hazardous smog? 
 

A. Chandigarh B. Delhi 

C. Haryana D. Pondicherry 

Q15. =�9 91�?1 )O �,1)?� ?J�? 9O =)+�)O �O  =ल� �!-�?) 0K�)? ?Jz �ी -I? 
 

A. ?
?I�? B. //ल㉍लI 

C. 9910?,? D. +?
)??O1I 
 

Q16. After Revolt of 1857, Haryana was merged with________. 
 

A. Punjab B. Delhi 

C. Himachal Pradesh D. Rajasthan 

Q16. 1857 �O  =?�K: �O  -?., :र10?+? �K ________ �O  9?- =/ल? =.0? �0? -?। 
 

A. +
�?- B. //ल㉍लI 

C. /9/??ल �/O? D. 1?�}.?1 

 

Q17. King Harshvardana adopted _______ as his capital although Thanesar was the established 
capital. 

 

A. Kannauj B. Kurukshetra 

C. Hansi D. Taraori 

Q17. 1?�? :}ष??ष) )O 
+)I 1?�??)I �O  z+ /O _______ �K 
+)?0?, :?ल?�=� -?)O91 --?=+, 1?�??)I -I। 
 

A. �m1L� B. �I y�O? 

C. 9?
?I D. -1?�1I 
 

Q18. Jannayak Janta Party won ______ seats in Haryana Legislative Assembly elections 2019. 
 

A. 12 B. 10 

C. 11 D. 15 
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Q18. �))?0� �),? +?�I )O :र10?+? =???) 9.? �J)??, 2019 /O ______ 9I�O �I,K। 
 

A. 12 B. 10 

C. 11 D. 15 

 

Q19. Wrestler Shri Yogeshwar Dutt and former Indian Hockey captain Sandeep Singh joined 
which political party in Haryana? 

 

A. Aam Admi Party B. Jannayak Party 

C. Congress Party D. Bharatiya Janata Party (BJP) 

Q19. +:ल??) ्䵦I 0K�O�1 .m �1 +K?ष .?1,I0 :Q�ी �्䵎?) ्䵦I 9�.I+ =9�:, :र10?+? �ी =�9 1?�)I=,� +?�I /O ??=/ल :ु� :ै䠂? 
 

A. �/ �//I +?�I B. �11?0� +?�I 

C. �?
्䵇O? +?�I D. .?1-I0 �1-? +?�I (.?�+?) 
 

Q20. In 2019, the theme state for Surajkund mela was _________. 
 

A. Karnataka B. Kerala 

C. Maharashtra D. Assam 

Q20. 2019 /O, 9K1��J� ! /Oल? �O  =ल� -I/ _________ 1?जᱍ0 -?। 
 

A. �1??�� B. �O 1ल 

C. /9?1?�र D. 
?/ 

 

Q21. Which software is used by Haryana police to make forensic reports tamper-proof? 
 

A. COMBAT B. KOKLEA 

C. TRAKEA D. APNEA 

Q21. :र10?+? +J=ल9 ,Q1O=9� र1+K�ष �ी �O]�?] �K 1K�)O �O  =ल� �L)9? 9Qo�?O01 �+0K� �1,I :P? 
 

A. COMBAT B. KOKLEA 

C. TRAKEA D. APNEA 
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Q22. Which Javelin thrower from Haryana won gold medal in Para Athletics championship held 
in Dubai? 

 

A. Sumit Antil B. Sandeep Chaudhary 

C. Neeraj Chopra D. Rinku Hooda 

Q22. .J-� /O �0K=�, +P1? �-लO=�]9 �ै䠂=+0)=?+ /O :र10?+? �O  =�9 .?ल? ,O �)O ??लO )O -?+ष +.� �I,?? 
 

A. ?Iस/- 

)-ल B. ?
/I+ ?L01I 

C. 1I1� ?K+)? D. 91
�ू 9Iड⅍?? 
 

Q23. Who was the Haryana's first state official poet? 
 

A. Shri Vibudh Shridhar B. Shri Dayachand Mahana 

C. Shri Lakhmi Chand D. Shri Uday Bhanu Hans 

Q23. :र10?+? �? +:ल? 1?जᱍ0 �=? �L) -?? 
 

A. ्䵦I =?-I0 ्䵦I01 B. ्䵦I /0??
/ /1? 

C. ्䵦I लቌ䲚/I ?
/ D. ्䵦I �/0 .?1I 9
? 

 

Q24. Banabhatt wrote ________, the first historical poetic work in Sanskrit language. 
 

A. Ratnavali B. Harsha Charita 

C. Priyadarshika D. Nagananda 

Q24. 9�-�L , .?}? �ी +:लI �=,:?=9� �?}0 �L =, ________, -?+.्䴾 �?1? =ल�I �0I :P। 
 

A. 1त⑍1??लI B. 9}? ?91- 

C. =�0/स??�? D. 1?�?1
/ 
 

Q25. Altaf Hussain Haali, the great Urdu scholar was born in which district of Haryana? 
 

A. Karnal B. Kurukshetra 

C. Faridabad D. Panipat 
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Q25. 
ल㉍,?, :ु9P) :?लI, /:?) �.Kष =?�?) �? �m/ :र10?+? �O  =�9 =�लO /O :ु� -?? 
 

A. �11?ल B. �I y�O? 

C. ,1I/?-?/ D. +?1I+- 

 

Q26. Kalesar National Park is situated in which district of Haryana? 
 

A. Faridabad B. Yamuna Nagar 

C. Panipat D. Rewari 

Q26. �लO91 )O?)ल +?�ष  :र10?+? �O  =�9 =�लO /O =--, :P? 
 

A. ,1I/?-?/ B. 0/I1?1�1 

C. +?1I+- D. 1O??)I 
 

Q27. Haryana is bordered by Punjab and Himachal Pradesh to the _______. 
 

A. north B. south 

C. east D. west 

Q27. :र10?+? �ी 9I/? +��?- �1 =:/?�ल �.O? 9O ______ =.?? /O ल�,I :P। 
 

A. �्䵈1 B. /्䵌�, 

C. +?ू? D. +��?/ 

 

Q28. The Shivalik hills lies to the _______ of Haryana. 
 

A. north-east B. south-east 

C. north-west D. south-west 

Q28. =???=ल� +:?=]0?? :र10?+? �O  _______ /O =--, :ै䠂। 
 

A. �्䵈1-+?ू? B. /्䵌�,-+?ू? 

C. �्䵈1-+��?/ D. /्䵌�,-+��?/ 
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Q29. There are _____ districts in Haryana. 
 

A. 22 B. 20 

C. 21 D. 23 

Q29. :र10?+? /O _____ =�लO :ै䠂। 
 

A. 22 B. 20 

C. 21 D. 23 

 

Q30. Gram Panchayat is the _____ tier of the Panchayati Raj in Haryana. 
 

A. fourth B. third 

C. first D. second 

Q30. :र10?+? /O +��?0,I 1?� �? _____ -,1 ्䵇?/ +��?0, :P। 
 

A. ?L.? B. -I?1? 

C. +9ल? D. /?ू1? 
 

Q31. Haryana state was divided into how many clusters for solid waste management in April, 
2019? 

 

A. 10 B. 20 

C. 12 D. 14 

Q31. :र10?+? 1?जᱍ0 �K 
�Pल, 2019 /O  K9 
+=?� �-�?) �O  =ल� =�,)O 9/K:ो䬂 /O =?.?=�, =�0? �0? -?? 
 

A. 10 B. 20 

C. 12 D. 14 

 

Q32. _________ is the largest manufacturer of scientific apparatus in Haryana. 
 

A. Rewari B. Ambala 

C. Faridabad D. Sirsa 
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Q32. _________ :र10?+? /O ?P_?=)� �+�1+ �? 9-9O -]? =)/?ष,? :P। 
 

A. 1O??)I B. 

-?ल? 

C. ,1I/?-?/ D. स?1?? 
 

Q33. In Haryana, who was honored as the first state poet in Urdu? 
 

A. Shri Altaf Hussain Haali B. Shri Anupchand Aftab 

C. Shri Uday Bhanu Hans D. Sajida Zaidi 

Q33. :र10?+? /O, �.Kष �O  �-/ 1?जᱍ0 �=? �O  z+ /O =�9O 9म⹍/?=), =�0? �0?? 
 

A. ्䵦I 
ल㉍-?, 9I?P1 9?लI B. ्䵦I 
1+ू?
/ �,-?- 

C. ्䵦I �/0 .?1I 9
? D. ??��/? ज़P/I 
 

Q34. As on 1 January 2020, who is the leader of opposition in Haryana Legislative Assembly? 
 

A. Shri Ranbir Singh Gangwa B. Shri Bhupinder Singh Hooda 

C. Shri Kanwar Pal Gujjar D. Shri Abhay Singh Chautala 

Q34. 1 �)?1I 2020 �K, :र10?+? =???)9.? /O =?+� �? )O,? �L) :P? 
 

A. ्䵦I 1,-I1 स?
9 �
�?? B. ्䵦I .=ू+
/1 स?
9 9ू?? 

C. ्䵦I �	 ?1 +ल �Iजᱍ�1 D. ्䵦I 
.0 स?
9 ?L�?ल? 
 

Q35. Murrah has become the lifeline of rural peasantry in Haryana. Murrah is the breed of 
which animal? 

 

A. Buffalo B. Goat 

C. Sheep D. Cow 

Q35. :र10?+? /O /J1?ष ्䵇?/I+ =�9?)-�),? �ी �I?) 1O�? -) �0? :P। /J1?ष =�9 �?)?1 �ी )-ल :P? 
 

A. .ै䠂? B. -�1? 

C. .O) D. �?0 
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Q36. An ______________translates assembly language into machine code. 
 

A. Compiler B. Interpreter 

C. Assembler D. Comparator 

Q36. ___________ 
9O-लI .?}? �? /?I) �K! /O 
)J??. �1,? :P। 
 

A. �म⹍+?�ल1 B. �
�1�O�1 

C. 
?Oम⹍-ल1 D. �/+O1O�1 
 

Q37. A page fault is ________________. 
 

A. a spelling error in a page in memory B. an access to a page not currently in memory 

C. a reference to a page which is in another 

program 

D. an access to a page currently in memory 

Q37. +O� ,Qल㉍� ______________ :P। 
 

A. /O/K1I /े䜂 ए� +O� /े䜂 ?-?1I �I ?I/� B. +O� �K /O/K1I /े䜂 19I
 9P �? -� +9I
? (ए]?O?) +?1? 

C. ए� +O� �? ?
/.? (91,1Om?) �K /?ू1O �K्䵇?/ /े䜂 D. ?-?/?1 /े䜂 /O/K1I /े䜂 ए� +O� -� +9I
?(ए]?O?) 

 

Q38. 

 

 

A. 1- b, 2-c, 3-a B. 1-a, 2-c, 3-b 

C. 1-c, 2-b, 3-a D. 1-b, 2-a, 3-c 
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Q38. 

 

 

A. 1- b, 2-c, 3-a B. 1-a, 2-c, 3-b 

C. 1-c, 2-b, 3-a D. 1-b, 2-a, 3-c 

 

Q39. The ______________ monitors user activity on the internet and transmits that information 
in the background to someone else. 

 

A. Trojan horses B. Adware 

C. Viruses D. Spyware 

Q39. ______________ ���1)O� +1 �+0K��,?ष �ी �=,=?=? +1 =)�?: 1�,? :P �1 �9 �?)�?1I �K ??-,? /O =�9I 
m0 }0=ि 
,� +:ु��?,? :P। 

 

A. रK�1 9I?? B. ए??O01 

C. ??01? D. }+?�?O01 
 

Q40. Pick the odd one out. 
Saw, Trowel, Hammer, Screw-driver 

 

A. Trowel B. Saw 

C. Hammer D. Screw-driver 
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Q40. 
9��, ?m. �J)O| 
�1?, �1+I, :-L]?, +O��9 

 

A. �1,I B. �1? 

C. 9.L)? D. +े䜂?�? 

 

Q41. PETAL: FLOWER:: ? 
 

A. PUPPY:DOG B. TYRE:BICYLE 

C. SANDALS:SHOES D. TABLE:CHAIR 

Q41. +��]I: +J�+ :: ? 
 

A. =+ल㉍ल?: �I ्䵈? B. �?01: ??���ल 

C. ?ै䠂?ल: �-ूO D. �O-ल: �I ?I 
 

Q42. What is the next term in the series, 6, 7, 21, 22, 66, 67, 201,202,_____. 
 

A. 306 B. 406 

C. 706 D. 606 

Q42. .I �0I ्䵦L��ल? �K .O=��: 6, 7, 21, 22, 66, 67, 201, 202, ___. 

�9 ्䵦L��ल? /O ��O �L) 9I 9�_0? �)I �?=:�? 
 

A. 306 B. 406 

C. 706 D. 606 

 

Q43. If WATCH is coded as ZEWGK, then TIME is coded as: 
 

A. WMOI B. WNPH 

C. WMPI D. WNOH 

Q43. =�9I 9?��O =,� .?}? /O 0=. WATCH 9O ZEWGK -),? :K ,K, TIME 9O ]0? -)O�?? 
 

A. WMOI B. WNPH 

C. WMPI D. WNOH 
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Q44. Simplify [7*9+2*12+3] / [12*3+(81/9)] 
 

A. 2 B. 5 

C. 7 D. 10 

Q44. 91लI�1+ �ी=��: [7*9+2*12+3] / [12*3+(81/9)] 
 

A. 2 B. 5 

C. 7 D. 10 

 

Q45. A cycle is bought for Rs. 900 and sold for Rs. 1260. Find the gain percent? 
 

A. 20 B. 40 

C. 50 D. 25 

Q45. �� 9?�=�ल �K 900 y+0O /O �1I.? �?,? :P �1 1260 y+0O /O -O�? �?,? :P। ल?. �=,?, _?, �1O। 
 

A. 20 B. 40 

C. 50 D. 25 

 

Q46. The population of a town increased from 2,00,000 to 2,80,000 in a decade. What is the 
increase in percentage? 

 

A. 30 B. 25 

C. 40 D. 80 

Q46. �� �--O �ी �)9�_0? �� .?� /O 2,00,000 9O 2,80,000 ,� -? ��। �)9�_0? �? ?L=ि �=,?, _?, �1?�0O। 
 

A. 30 B. 25 

C. 40 D. 80 

 

Q47. A sum of money is distributed among A, B, C, D in a proportion of 5:2:4:3. If C gets 
Rs.1000 more than D, then what is B's share? 

 

A. 5000 B. 2000 

C. 4000 D. 3000 

 

 

 

www.mseducationtv.com



 

Adv. No. 11/2019, Cat No. 01, Junior System Engineer, 

DHBVN, UHBVN & HVPNL DEPARTMENT, HARYANA 

Morning Session 
 

February 27, 2020  Page 14 of 29 

 

Q47. 5:2:4:3 �O  
)J+?, /O A, B, C, D �O  -I� ?) �? =?,1+ =�0? �?,? :P। 0=. C �K D 9O 1000 y+0O 
=?� =/ल,O :ै䠂, ,K 
B �? =:-9? =�,)? :P? 

 

A. 5000 B. 2000 

C. 4000 D. 3000 

 

Q48. Concave mirrors are used in _________. 
 

A. Make-up mirrors B. Passenger-side rear view mirrors 

C. Telescopes D. Satellite dishes 

Q48. 
?,ल .+ष+ �? �+0K� _________ /O =�0? �?,? :P। 
 

A. ्䵦र
�?1 /+?, B. +P?े䜂�1-??�? 9101 }0ू /+?, 

C. /1ू-I1 D. �+्䵇9 �? 
 

Q49. The chemical symbol of the metal "tin" is ________. 
 

A. Sb B. Sn 

C. Si D. Sr 

Q49. ??,J "=�)" �? 1?9?0=)� �,I� ________ :P। 
 

A. Sb B. Sn 

C. Si D. Sr 

 

Q50. How many bones are there in an adult human body? 
 

A. 52 B. 80 

C. 126 D. 206 

Q50. �� ?0-� /?)? ?1I1 /O =�,)I :!M=!0?� :K,I :ै䠂? 
 

A. 52 B. 80 

C. 126 D. 206 
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Q51. According to DES standards, in what form is the Data Encryption standard used for 
Encryption? 

 

A. Physical key cryptography B. Secret key cryptography 

C. PGP key cryptography D. Digital Signature cryptography 

Q51. DES /?)�ो䬂 �O  
)J9?1, �=mिo?) �O  =ल� !O�? �=mिo?) /?)� =�9 z+ /O �+0K� =�0? �?,? :P? 
 

A. .L)-� �I
 �I �्䵅o�K्䵇?,I B. �Io- �I
 �I �्䵅o�K्䵇?,I 

C. PGP �I
 �I �्䵅o�K्䵇?,I D. )?���ल स?_1O?1 �्䵅o�K्䵇?,I 
 

Q52. Let's consider X is sending a message to Y and during this process X and Y use different 
keys for data encryption and decryption. What type of encryption/decryption techniques 
are they using? 

 

A. Secret Key Encryption/ Decryption technique B. Public Key Encryption/ Decryption technique 

C. Private Key Encryption/ Decryption technique D. PGP Key Encryption/Decryption technique 

Q52. /?) लO =� X, Y �K 9�.O? .O� 1:? :P �1 �9 �=ि0? �O  .L1?) X �1 Y !O�? �=mिo?) �1 =!=िo?) �O  =ल� =?=.m) �J� =�0ो䬂 �? 
�+0K� �1,O :ै䠂। ?O =�9 ��?1 �ी �=mिo?) / =!=िo?) ,�)I�ो䬂 �? �+0K� �1 1:O :ै䠂? 

 

A. �Io- �I
 �I ए�m्䵅o?1 / )?�्䵅o?1 -�1I� B. ????�)1� �I
 �I ए�m्䵅o?1 / )?�्䵅o?1 -�1I� 

C. )1�I �I
 �I ए�m्䵅o?1 / )?�्䵅o?1 -�1I� D. PGP �I
 �I ए�m्䵅o?1 / )?�्䵅o?1 -�1I� 

 

Q53. What is the most commonly used public key cryptography algorithm? 
 

A. DES B. RSA 

C. AES D. RCA 

Q53. 9-9O 
=?� �-,O/?ल �ी �?)O ??लI 9??ष�=)� �J� �I =िo�K्䵇?,ी �ल㉍�Kर1m/ ]0? :P? 
 

A. DES B. RSA 

C. AES D. RCA 
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Q54. MD5(Message Digest Algorithm 5) is a cryptographic hash function with an output value 
of ____ bit hash value. 

 

A. 152 B. 216 

C. 512 D. 128 

Q54. MD5 (9�.O? !?��O-� �ल㉍�Kर1m/ 5) �� =िo�K्䵇?=?� :P? ?� ]?) :P, =�9�? ���+J� /?) ____ =-� :P? /?) :P। 
 

A. 152 B. 216 

C. 512 D. 128 

 

Q55. In what fundamental ways is the Network performance measured? 
 

A. Packet Count and Throughput B. Infrastructure and Bandwidth 

C. Infrastructure and Delay D. Bandwidth and latency 

Q55. )O�?�ष  �.?ष) �K =�) /Kल.K, ,1I�ो䬂 9O /?+? �?,? :P? 
 

A. +P�O � �?�
 � �1 }+ूI� B. �m9?}र]?1 �1 -ै䠂?=?ड⅍. 

C. -I)10?/I +?	?? �1 /O1I D. -ै䠂?=?ड⅍. �1 =?ल
--? 
 

Q56. Are Bandwidth and Throughput different terms? Justify. 
 

A. Yes both are same terms B. No, both are different terms as bandwidth is a 

measure of frequency band's width and 

throughput is measurement of message time 

delay to transfer in the network 

C. No, both are different terms as bandwidth is a 

measure of frequency band's width and 

throughput refers to the measured performance of 

the system 

D. No, both are different terms as bandwidth is a 

measure of variations in packet transfer and 

throughput refers to the measured performance of 

the system 
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Q56. -ै䠂!=?!M- �1 ्䵕K+J� 
ल�-
ल� ?m. :ै䠂? �=�m0 -+� �1O। . 
 

A. 9?	 /K1ो䬂 ?/?1 ?m/ 9ै䠂 B. 19I
, /K1ो䬂 
ल�-
ल� ?m/ 9ै䠂 ]0ो䬂�� -ै䠂?=?ड⅍. �?र=्䵈 -ै䠂? 
�I ?L)?� �? /?+ 9P �1 1O�?�?  /े䜂 }.?1?
-1, �O  /?o0/ ?O 
}+ूI� ?
/O? ?/0 �I /O1I 9P 

C. 19I
, /K1ो䬂 
ल�-
ल� ?m/ 9ै䠂 ]0ो䬂�� -ै䠂?=?ड⅍. �?र=्䵈 -ै䠂? 
�I ?L)?� �? /?+ 9P �1 }+ूI� स?}�/ �O  /?+? �/??1 �K 
?
/स.?- �1-? 9P 

D. 19I
, /K1ो䬂 
ल�-
ल� ?m/ 9ै䠂 ]0ो䬂�� -ै䠂?=?ड⅍. +P�O � 
9}-?
-1, /े䜂 -/ल?? �? ए� �+?0 9P �1 }+ूI� स?}�/ �O  
�/??1 �O  /?+ �K ?
/स.?- �1-? 9P 

 

Q57. If the term Total latency is defined as total of Propagation, Transmit and Queue, then how 
is propagation and Transmit computed? 

 

A. Propagation = Distance travelled 

Transmit = Size of packet 

B. Propagation = Distance / Speed of Light 

Transmit = Size / Bandwidth 

C. Propagation = Distance / Speed of Light 

Transmit = Size of packet 

D. Propagation = Speed of light travelled 

Transmit = Bandwidth x Size 

Q57. 0=. �J ल =?ल�-,? ?m. �K �9?1, 9��?1+ �1 �,?1 �O  �J ल �O  z+ /O +र1.?=}, =�0? �?,? :P, ,K ��?1 �1 9��?1+ �ी �+)? �P 9O 
�ी �?,I :P? 

 

A. �??1 = /1ूI �I 0??? 
?
??1, = +P�O � �? ��?1 

B. �??1 = ��?? �I /1ूI / �)- 

?
�O}, = ��?1 / -ै䠂?=?ड⅍. 

C. �??1 = ��?? �I /1ूI / �)- 

?
??1, = +P�O � �? ��?1 
D. �??1 = ��?? �I �)- 

?
??1, = -ै䠂?=?ड⅍. x ��?1 
 

Q58. The Throughput relationship is given by the following expression: 
Throughput = TransferSize / TransferTime 
How is the transfer time computed? 

 

A. TransferTime = RTT + 1/Bandwidth B. TransferTime = RTT + 1/Bandwidth + 

TransferSize 

C. TransferTime = RTT + TransferSize/Bandwidth D. TransferTime = RTT + 1/Bandwidth x 

TransferSize 
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Q58. ्䵕K+J� 9�-�? =)म⹍)=ल=�, }0��� �?1? =.0? �0? :P: 
्䵕K+J� = --?)?�,1+ ��?1 / --?)?�,1+ 9/0 

--?)?�,1+ 9/0 �ी �+)? �P 9O �ी �?,I :P? 
 

A. }.?1?
-1, ?/0 = RTT + 1/ -ै䠂?=?ड⅍. B. }.?1?
-1, ?/0 = RTT + 1/ -ै䠂?=?ड⅍. + }.?1?
-1, 

��?1 

C. }.?1?
-1, ?/0 = RTT + }.?1?
-1, ��?1 / -ै䠂?=?ड⅍. D. }.?1?
-1, ?/0 = RTT + 1/ -ै䠂?=?ड⅍. x }.?1?
-1, 

��?1 
 

Q59. What are the basic troubleshooting techniques, if the Computer suddenly displays an error 
message "Disk Boot Failure" ? 

 

A. Go to BIOS setup and check the Boot Order 

sequence is Correct 

B. Installing Windows operating system updates in 

safe mode 

C. Reinstalling different Windows operating 

system as current OS does not support 

D. Cannot be resolved as System disk is damaged 

Q59. 0=. �� o0K�1 
�?)� �� }J=� 9�.O? "=!-� -K� =?,ल,?" �.=?ष, �1,? :P ,K /Kल 9/-0? =)??1+ ,�)I�O  ]0? :ै䠂? 
 

A. BIOS ?O�
+ +1 �?ए
 �1 -ू� ऑ??1 
1I्䵅/ �K  I� �1े䜂 B. =?
?K� ऑ+1O/�
� स?}�/ 
+?O� �K ?I1्䵌�- /K? /े䜂 �
}�Iल 

�11? 

C. �ए? �O  z+ /े䜂 =?स.m1 =?
?K� ऑ+1O/�
� स?}�/ �K 
+I1}.??=+- �11? ?ू	�� ?्䵈?/?1 OS �?�? ?/.?1 19I
 �1-? 
9P। 

D. स?}�/ )?}� �O  �)-्䵇}- 9K1O +1 9ल 19I
 ��0? �? ?�-? 

 

Q60. User wants to build another Master Boot Record and also wants to make changes on drive 
configuration, reformats and repartitions. How will he do it? 

 

A. User will use the Fixmbr command at command 

prompt 

B. User will use the bootrec command at 

command prompt 

C. User will use the rebuildbcd command at 

command prompt 

D. User will use the Creatembr command at 

command prompt 
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Q60. �+0K��,?ष �� �1 /?-�1 -K� र1�Q!ष -)?)? �?:,? :P �1 ्䵑?�? �Q=m?�1O?), 9J??1ो䬂 �1 /1म⹍/, +1 +र1?,ष) .I �1)? �?:,? :P। ?: 
0O �P 9O �1O�?? 

 

A. �+0K��-?? �/?
? �Iम⹍o� +1 Fixmbr �/?
? �? �+0K� 

�1O�? 
B. �+0K��-?? �/?
? �Iम⹍o� +1 bootrec �/?
? �? �+0K� 

�1O�? 

C. �+0K��-?? �/?
? �Iम⹍o� +1 rebuildbcd �/?
? �? 
�+0K� �1O�? 

D. �+0K��-?? �/?
? �Iम⹍o� +1 Creatembr �/?
? �? 
�+0K� �1O�? 

 

Q61. User faces a BSOD error due to which the system shuts down and restarts unexpectedly. 
How will he troubleshoot it? 

 

A. User cannot troubleshoot this issue, as the 

system has crashed 

B. User can troubleshoot this issue by starting the 

system in safe mode or start System Restore 

procedure 

C. User can troubleshoot this issue by using 

chkdsk and Defrag command at command prompt 

D. User can troubleshoot this issue by installing 

third-party software to find causes and resolve 

the issue accordingly 

Q61. �+0K��,?ष �K BSOD }J=� �? 9?/)? �1)? +],? :P =�9�O  �?1+ =9-�/ -�. :K �?,? :P �1 
�m0?=?, z+ 9O +J)1?1�. :K,? :P। 
?: �9�? =)??1+ �P 9O �1O�?? 

 

A. �+0K��-?? �? ?/}0? �? )1??1, 19I
 �1 ?�-?, ]0ो䬂�� 

स?}�/ ्䵅P ? 9K �0? 9P 
B. �+0K��-?? स?}�/ �K ?I1्䵌�- /K? /े䜂 ?Iz �1�O  0? स?}�/ 

+I1}.??+1? ��्䵅0? ?Iz �1�O  �? ?/}0? �? )1??1, �1 
?�-? 9P 

C. �+0K��-?? �/?
? �Iम⹍o� +1 chkdsk �1 Defrag �/?
? 
�? �+0K� �1�O  �? ?/}0? �? )1??1, �1 ?�-? 9P 

D. �+0K��-?? �?1,ो䬂 �? +-? ल�?1O �1 -/1I??1 ?/}0? �K 
9ल �11O �O  सलए -र-I0-+� ?I़㱸�?O01 }.?=+- �1�O  �? 

?/}0? �? )1??1, �1 ?�-O 9ै䠂 
 

Q62. User faces a Device failure. How will he troubleshoot this issue? 
 

A. User has to reinstall the windows operating 

system 

B. User has to use Windows recovery console to 

resolve this issue 

C. User has to run hardware diagnostics to 

identify the issue 

D. User cannot resolve this issue as it is a device 

failure 
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Q62. �+0K��,?ष =!??�9 =?,ल,? �? 9?/)? �1,? :P। ?: �9�? =)??1+ �P 9O �1O�?? 
 

A. �+0K��-?? �K =?
?Kज़ ऑ+1O/�
� स?}�/ �K �,1 ?O }.?=+- 

�11? 9K�? 
B. �? ?/}0? �K 9ल �11O �O  सलए �+0K��-?? �K =?
?K� 

91�?1I �
 ?Kल �? �+0K� �11? 9K�? 

C. �+0K��-?? �K ?/}0? �I +9??1 �11O �O  सलए 9????O01 
??0_1K�}�]? �K ?ल?1? 9K�? 

D. �+0K��-?? �? ?/}0? �K 9ल 19I
 �1 ?�-? ]0ो䬂�� 09 
ए� �+�1, =?,ल-? 9P 

 

Q63. Which of the given components will be used to connect one computer to another computer 
that is present in a network? 

 

A. Hub B. Network Interface Card 

C. Cables D. Modem 

Q63. =.� ��  ��ो䬂 /O 9O =�9�? �� )O�?�ष  �O  �� �� o0K�1 �K .K91O �� o0K�1 9O �K])O �O  =ल� �+0K� =�0? �?��?? 
 

A. 9- B. 1O�?�?  �
�1,O ? �??? 

C. �O -ल㉍? D. /K?/ 

 

Q64. You want to deliver a message to the destination computer that is present in a network that 
has multiple devices connected. Which of the given components will you use for 
achieving the desired? 

 

A. Hub B. Router 

C. Switch D. Modem 

Q64. �+ ��,}0 �� o0K�1 +1 �� 9�.O? .O)? �?:,O :ै䠂 �K �� )O�?�ष  /O /L�K. :P =�9/O �� =!??�9 �J]O :ु� :ै䠂। �9O �?्䵎 �1)O �O  =ल� �+ =.� 
��  ��ो䬂 /O 9O =�9�? �+0K� �1O�O? 

 

A. 9- B. z�1 

C. �}?? D. /K?/ 

 

Q65. Which of the given hardware components will be used to connect a Local Area Network 
to an internet connection? 

 

A. Router B. Switch 

C. Modem D. Both Modem and Router 
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Q65. =�9I --?)I0 �)O]?) �K ���1)O� �)O]?) 9O �K])O �O  =ल� =.� �� :?!ष?O01  ��ो䬂 /O 9O =�9�? �+0K� =�0? �?��?? 
 

A. 1?��1 B. �}?? 

C. /K?O/ D. /K?O/ �1 1?��1 /K1ो䬂 
 

Q66. A computer is connected to internet over the telephone line using Modem. What is the 
function of the modem? 

 

A. Transforms analog signal to digital data over 

telephone lines 

B. Forwards the packets of data to the destination 

C. Transmits the analog signal over telephone 

lines 

D. Transforms digital data to analog signal over 

telephone lines 

Q66. �� �� o0K�1 /K!O/ �? �+0K� �1�O  �OलI,K) ल?�) +1 ���1)O� 9O �J]? :ु� :P। /Q!O/ �? �?0ष ]0? :P? 
 

A. �OलI,K1 ल?�1ो䬂 +1 )?���ल ?O�? �K ए1?लI� स?_1ल 

र?
?,I/? �1-? 9P 
B. �
-}0 �O  सलए ?O�? �O  +P�O � ��O -??1? 

C. �OलI,K1 ल?�1ो䬂 +1 ए1?लI� स?_1ल �??91- �1-? 9P D. �OलI,K1 ल?�1ो䬂 +1 ए1?लI� स?_1ल �O  सलए )?���ल ?O�? 
र?
?फI/? �1-? 9P 

 

Q67. You are using Virtual private network(VPN) to connect remote users. Which of the given 
options is correct in case of VPN? 

 

A. A VPN uses virtual connections routed through 

the internet from the different LAN's to the 

remote user 

B. A VPN uses virtual connections routed through 

the internet from the third party VPN service to 

the remote user 

C. A VPN shares various computer resources to 

the remote user through different LAN's 

D. A VPN provides a way for block level data 

storage to the remote users 

Q67. �+ .K1-- �+0K��,?ष� � �K �K])O �O  =ल� ?�Jष
ल �?�?O� )O�?�ष  (?I+I�)) �? �+0K� �1 1:O :ै䠂। ?I+I�) �O  =ल� �L) 9? =?�ल㉍+ 
9:I :P? 

 

A. ए� ?I+Iए1 �
�11O� �O  /?o0/ ?O �
�11O� ?O z� ��ए �ए 

??I?
ल �1O]?1 �? �+0K� /1ू}. �+0K��-?? �O  सलए �1-? 9P 
B. ए� ?I+Iए1, -I?1O +� �O  ?I+Iए1 ?O?? ?O /1ू}. 

�+0K��-?? �O  सलए �
�11O� �O  /?o0/ ?O z� ��ए �ए �.??I 
�1O]?1 �? �+0K� �1-? 9P 

C. ए� ?I+Iए1 =?स.m1 �
 o0�ू1 ?
??01ो䬂 �K /1ू}. लP1 �O  
/?o0/ ?O =?स.m1 �+0K��-?? �K ??�? �1-? 9P 

D. ए� ?I+Iए1 /1ू}. �+0K��-??�
 �K mलI� }-1 ?O�? 
.
??1, �O  सलए ए� 1?}-? �/?1 �1-? 9P 
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Q68. You wanted to connect computer peripherals in a school. What type of network is used in 
this scenario? 

 

A. LAN(Local Area Network) B. EPN(Enterprise Personal Network) 

C. PAN(Personal Area Network) D. WAN(Wide Area Network) 

Q68. �+ �� -�K ल /O �� o0K�1 -?्䵨 �+�1+ो䬂 �K �K])? �?:,O -O। �9 +र1o�0 /O =�9 ��?1 �O  )O�?�ष  �? �+0K� =�0? �?,? :P? 
 

A. LAN(लK�ल ए910? 1O�?�? ) B. EPN(ए
�1�?�� +??1ल 1O�?�? ) 

C. PAN(}0�]-�- �O? 1O�?�? ) D. WAN(??�? ए910? 1O�?�? ) 
 

Q69. A network covers a larger geographic area in the same city that forms a larger network by 
interconnecting different LAN through telephone exchange lines. Identify the type of 
network. 

 

A. Wide Area Network B. Internetwork 

C. Metropolitan Area Network D. System Area Network 

Q69. �� )O�?�ष  �9I ?:1 /O �� -]O .L�K=ल� �O} �K �?1 �1,? :P �K �OलI,K) �]9�O� ल?�)ो䬂 �O  /?o0/ 9O =?=.m) लP) �K ���1�)O]� 
�1�O  �� -]? )O�?�ष  -)?,? :P। )O�?�ष  �O  ��?1 �K +:�?)O। 

 

A. ??�? ए910? 1O�?�?  B. �m�11O�?�?  

C. /OरK+Iसल�1 ए910? 1O�?�?  D. स?}�/ ए910? 1O�?�?  
 

Q70. If you want to use wireless connection to connect different computers within a building, 
then what type of connection will you use? 

 

A. Local Area Network B. System Area Network 

C. Wireless Private Network D. Wireless Local Area Network 

Q70. 0=. �+ =�9I .?) �O  .I,1 =?=.m) �� o0K�1ो䬂 �K �K])O �O  =ल� ??01लO9 �)O]?) �? �+0K� �1)? �?:,O :ै䠂, ,K �+ =�9 ��?1 �O  
�)O]?) �? �+0K� �1O�O? 

 

A. }.?1I0 �O? 1O�?�?  B. स?}�/ ए910? 1O�?�?  

C. ??01लO? )1�I 1O�?�?  D. ??01लO? लK�ल ए910? 1O�?�?  
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Q71. Which type of firewall is called Pipe Proxy? 
 

A. Stateless firewall B. Packet Filtering firewall 

C. Application Level Gateway D. Circuit Level Gateway 

Q71. =�9 ��?1 �O  ??01?Qल �K +?�+ �Q]9I �:? �?,? :P? 
 

A. }�O�लO? फ?01?Iल B. +P�O � �फल㉍�91
� फ?01?Iल 

C. एoलI�O ?1 }-1 �O�?O D. ?��? � }-1 �O�?O 
 

Q72. ______ perform packet filtering to control the movement of packets in a network. 
 

A. Role Based control lists B. Access control lists 

C. Random control lists D. Proxy control lists 

Q72. ______ �� )O�?�ष  /O +P�O � �ी �=, �K =)0�=}, �1)O �O  =ल� +P�O � =?ल㉍�र1�� �1,O :ै䠂। 
 

A. .सू/�? �0?91- )10
?, ??ूI B. ए]?O? �
 रKल सल}� 

C. 1ै䠂?/ �
 रKल सल}� D. �I]?I )10
?, ??ूI 
 

Q73. You wanted to use public key encryption for encrypting your data. Which of the given 
techniques will you use for doing the same? 

 

A. 3DES B. DES 

C. RC2 D. RSA 

Q73. �+ 
+)O !O�? �K �=mिo� �1)O �O  =ल� 9??ष�=)� �J� �I �=mिo?) �? �+0K� �1)? �?:,O -O। =.� �� ,�)I�ो䬂 /O 9O �+ =�9�? 
�+0K� �1O�O? 

 

A. 3DES B. DES 

C. RC2 D. RSA 

 

Q74. You want to use Message Digest technique for ensuring data privacy and send it to 
another user. Which of the given options is NOT correct in case of this technique? 

 

A. A hash value is generated in this technique B. Actual data is encrypted and sent to the 

receiver 

C. Hash value of the data is sent to the user 

instead of data 

D. Receiver matches the hash values in this 

technique and accepts the data based on this 
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technique 

Q74. �+ !O�? �K+)I0,? 9J=)=ि, �1)O �O  =ल� 9�.O? !?��O-� ,�)I� �? �+0K� �1)? �?:,O :ै䠂 �1 �9O =�9I 
m0 �+0K��,?ष �K .O� 

9�,O :ै䠂। �9 ,�)I� �O  =ल� =.� �� =?�ल㉍+ो䬂 /O 9O �L) 9? =?�ल㉍+ 9:I ):K :P? 
 

A. �? -�1I� /े䜂 ए� 9P? /?1 �त⑍+m1 9K-? 9P B. ??}-=?� ?O�? �K ए�m्䵅o� �1�O  91?I?1 �K .O�? �?-? 9P 

C. ?O�? �? 9P? /?1 ?O�? �O  -�?0 �+0K��-?? �K .O�? �?-? 9P D. 91?I?1 �? -�1I� /े䜂 9P? /लू㉍0ो䬂 ?O /Oल �?-? 9P �1 �? 

-�1I� �O  �0?1 +1 ?O�? �K }?I�?1 �1-? 9P 
 

Q75. When every single file and folder in the system is backed up, it is called as _______ . 
 

A. Full Backup B. Duplicity Backup 

C. Mirror Backup D. Incremental Backup 

Q75. �- =9-�/ �ी :1 �� ,?�ल �1 ,Kल㉍!1 �? -P�
+ =ल0? �?,? :P, ,K �9O _______ �:? �?,? :P। 
 

A. +,ू? -P�
+ B. द♍?P0-? -P�
+ 

C. /+?, -P�
+ D. ?र�o/?Iल -P�
+ 

 

Q76. Amazon S3 is a web-based cloud storage service by Amazon Web Services for online 
backup and archiving data. What is the acronym of S3? 

 

A. Simple Storage Service B. Simple Storage Software 

C. Scalable Storage Service D. Sample Storage Service 

Q76. Amazon S3 �)ल?�) -P�
+ �1 !O�? 9�्䵇: �O  =ल� Amazon Web Services �?1? �� ?O--�??र1, ]ल?�! -�K1O� 

9O?? :P। S3 �? 9�=�्䵎 )?/ ]0? :P? 
 

A. स?
+ल }�K1O� ?=??? B. स?
+ल }�K1O� ?Io�?O01 

C. }�O लO-ल }�K1O� ?=??? D. ?ै䠂+ल }�K1O� ?=??? 

 

Q77. Which RAID configuration data is mirrored in all other drives at the same time? 
 

A. RAID 0 B. RAID 2 

C. RAID 1 D. RAID 5 
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Q77. �� :I 9/0 /O 
m0 9.I ्䵑?�? /O �L) 9? RAID �Q=m?�1O?) !O�? =/11 =�0? �0? :P? 
 

A. RAID 0 B. RAID 2 

C. RAID 1 D. RAID 5 

 

Q78. In the 3-2-1 Backup rule , What does rule 2 represent? 
 

A. 2 Primary backups needed B. A copy of the data in 2 off-site locations 

C. Store data in 2 different drives D. Store data in 2 different types of storage 

Q78. 3-2-1 -P�
+ =)0/ /O, =)0/ 2 ]0? .??ष,? :P? 
 

A. 2 �?.स/� -P�
+ �I �z1- B. 2 ऑ,-??�� }.?1ो䬂 /े䜂 ?O�? �I ए� �)- 

C. 2 
ल�-
ल� ्䵑?�? /े䜂 ?O�? }�K1 �1े䜂 D. ?O�? �K 2 
ल�-
ल� ��?1 �O  }�K1O� /े䜂 }�K1 �1े䜂 
 

Q79. The specification of one of the Ethernet is given below:10BASE-TX 
What does the number "10" indicates? 

 

A. The transmission speed of the network is 10 

Megabits per second 

B. The transmission speed of the network is 10 

Megabits per minute 

C. The transmission speed of the network is 10 

Gigabits per second 

D. The transmission speed of the network is 10 

Gigabits per minute 

Q79. �-1)O� /O 9O �� �? =?=).O? )I�O =.0? �0? :P:10BASE-TX 

"10" 9�_0? ]0? ��=�, �1,I :P? 
 

A. 1O�?�?  �I �??1, �)- 10 /O�?--� �)- ?O�
 ? 9P B. 1O�?�?  �I �??1, �)- 10 /O�?--� �)- स/1� 9P 

C. 1O�?�?  �I र?
?स/?1 �)- 10 �I�?--� �)- ?O�
 ? 9P D. 1O�?�?  �I र?
?स/?1 �)- 10 �I�?--� �)- स/1� 9P 
 

Q80. A Transmission media or data cable used in most of the modern Ethernet network and for 
telephone communication is ______. 

 

A. Coaxial Cable B. Twisted Pair Cables 

C. Optical Fiber D. Unshielded Twisted Pair 
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Q80. �?J=)� �-1)O� )O�?�ष  �1 �OलI,K) 9��?1 �O  =ल� �+0K� =�� �?)O ??लO �� र?�9=/?) /I=!0? 0? !O�? �O -ल ______ :P। 
 

A. ?/?�I0 -?1 B. /I) �K)I �O -ल㉍? 

C. ��?स?- -
-I D. 1�?9I1 }0??)- ?- 0I_/ 

 

Q81. The BGP speaking router used for interconnection internet service providers is ______ . 
 

A. Core router B. Edge router 

C. Subscriber edge router D. Inter Provider Border router 

Q81. ���1�)O]?) ���1)O� 9O?? �.?,?� � �O  =ल� �-,O/?ल =�0? �?)O ??ल? -I�I+I -Kल)O ??ल? 1?��1 ______ :P। 
 

A. �K1 1?��1 B. ए� 1?��1 

C. ?m?्䵅?�-1 ए� 1?��1 D. �
�1 �K??�?1 -I??1 1?��1 
 

Q82. A __________ is a packet filtering firewall which remembers information passed in the 
last packet and is considered secure. 

 

A. Stateless firewall B. Stateful firewall 

C. Proxy firewall D. Next-generation firewall 

Q82. �� __________ �� +P�O � =?ल㉍�र1�� ??01?Qल :P �K 
�=,/ +P�O � /O +?र1, �?)�?1I �K 0?. 1�,? :P �1 9J1=�, /?)? �?,? :P। 
 

A. }�O�लO? फ?01?Iल B. }�O�,I ल फ?01?Iल 

C. �I]?I फ?01?Iल D. 1O]}� �11O?1 फ?01?Iल 

 

Q83. Which of the following is a wireless medium to transmit data from sender to receiver ? 
 

A. Fiber Optic cable B. Coaxial Cable 

C. Twisted Pair Wire D. Microwaves 

Q83. �O}� 9O र19I?1 ,� !O�? 9��?र1, �1)O �O  =ल� =)म⹍)=ल=�, /O 9O �L) 9? �� ??01लO9 /?o0/ :P? 
 

A. ,?�-1 ऑ�o�� �O -ल B. ?/?�I0 -?1 

C. /I) �K)I -?1 D. /?�्䵅K?O? 
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Q84. Sink is another name for ______ ,an element of data communication. 
 

A. Sender B. Medium 

C. Receiver D. Message 

Q84. =9��, !O�? 9��?1 �O  �� ,m? ______ �? .K91? )?/ :P। 
 

A. �O}� B. /o0/ 

C. 91?I?1 D. ?
/O? 

 

Q85. When a new process is being created, its state is: 
 

A. Blocked B. New 

C. Running D. Ready 

Q85. �- �� )� �=ि0? -)?� �? 1:I :P, ,K �9�ी =--=, :P: 
 

A. 
?1K/0- B. 1� 

C. ?ल-I 9I� D. -P0?1 
 

Q86. The process of maintaining the information about every process in a data structure by an 
operating system is called ___________. 

 

A. I/O controller B. Directory 

C. Process control block D. Process context 

Q86. =�9I �+1O=��� =9-�/ �?1? !O�? 9�1�)? /O :1 �=ि0? �O  -?1O /O �?)�?1I -)?� 1�)O �ी �=ि0? �K ___________ �:? �?,? :P। 
 

A. I/O )10
?� B. )1/ेस?�? 

C. ��्䵅0? )10
?, mलI� D. ��्䵅0? �? ?
/.? 
 

Q87. Consider a process P0 in FCFS algorithm, whose Arrival time = 2 unit, Execute Time = 6 
unit, Service time = 8 unit. What is its Wait time? 

 

A. 6 unit B. 2 unit 

C. 4 unit D. 8 units 
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Q87. �,9I�,�9 �ल㉍�Kर1m/ /O �� �=ि0? P0 +1 =?�?1 �1O, =�9�? ��/) 9/0 = 2 ��?�, =)�+?=., 9/0 = 6 ��?� �1 9O?? 
9/0 = 8 ��?�। �9�? ?O� �?�/ ]0? :P? 

 

A. 6 ��?� B. 2 ��?� 

C. 4 ��?� D. 8 ��?� 
 

Q88. Calculate the waiting time for P3 during the FCFS scheduling process (order is P1, P2, P3, 
if burst time for P1=15, P2=10 and P3=5)? 

 

A. 30 B. 25 

C. 10 D. 5 

Q88. FCFS ?O!M0K=ल�� �=ि0? �O  .L1?) P3 �O  =ल� �,I�? 9/0 �ी �+)? �1O (0=. --�ष �?�/ :P- P1 = 15, P2 = 10 �1 P3 

= 5 �1 �!ष1 P1, P2, P3 :P)। 
 

A. 30 B. 25 

C. 10 D. 5 

 

Q89. Which of the following Autonomous System type has only a single connection to one 
other Autonomous System? 

 

A. Multihomed Autonomous Systems B. Transit Autonomous Systems 

C. Transit Autonomous Systems and stub 

Autonomous Systems 

D. Stub Autonomous Systems 

Q89. =)म⹍)=ल=�, /O 9O =�9 -??0m �+?लI �O  ��?1 �? 
m0 -??0m �+?लI 9O �O ?ल �� :I 9�-�? :P? 
 

A. /ल㉍�I9K/O? ऑ�K1K/? स?}�/ B. र?
��� ऑ�K1I/? स?}�/ 

C. र?
��� ऑ�K1I/? स?}�/ �1 }�- ऑ�K1I/? स?}�/ D. }�- ऑ�K1I/? स?}�/ 

 

Q90. Which of the following options is required in Autonomous Systems to exchange 
information(routing) with other Autonomous Systems? 

 

A. Initial sequence numbers B. Autonomous Systems Number 

C. System identification number D. Autonomous Synchronization number 
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Q90. 
m0 -??0m �+?=ल0ो䬂 �O  9?- 9K�)? (/?�ष) �? �.?)-�.?) �1)O �O  =ल� -??0m �+?=ल0ो䬂 /O =)म⹍)=ल=�, /O 9O �L) 9? =?�ल㉍+ 
�?�0� :P? 

 

A. �?1
स.� 
1I्䵅/ ?
_0? (�)1स?0ल ?I]?े䜂? 1
-1) B. }??0्䵈 �,?लI ?
_0? (ऑ�K1K/? स?}�म⹍? 1
-1 ) 

C. स?}�/ +9??1 ?
_0? (स?}�/ ��?े䜂/��,�O ?1 1
-1) D. }??0्䵈 -Iल㉍0�?ल1 ?
_0? (ऑ�K1K/? स?
्䵅K1?��O?1 1
-1) 
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Q1. 

 

 

A.  B.  

C.  D.  

 

Q2. 

 

 

A.  B.  

C.  D.  

 

Q3. 
 

 

A.  B.  

C.  D.  

 

Q4. 
 

 

A.  B.  

C.  D.  

 

Q5. 
 

 

A.  B.  

C.  D.  

 

Q6. __________ is the synonym of 'FANTASY'. 
 

A. Genuine B. Superb 

C. Imaginary D. Eccentric 
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Q7. ___________ is the antonym of 'JEALOUS' 
 

A. Grudging B. Unenvious 

C. Greedy D. Suspicious 

 

Q8. What is the meaning of the phrase, 'read between the lines'? 
 

A. you have my full attention B. say what you really feel 

C. pretend to be upset D. finding meanings that are intended, but that 

are not directly expressed 

 

Q9. The sentence has an incorrect phrase, which is shown in bold and underlined. Select the 
option that is the correct phrase to be replaced so that the statement is grammatically 
correct. 
 
 
Ten new members have enrolled and seven has resigned. 

 

A. is resigned B. have been resigned 

C. have resigned D. was resigned 

 

Q10. Complete the sentence by choosing the correct word from the given options. 
 
Ajay skidded on his motorcycle and _____ up in the hospital. 

 

A. ended B. caught 

C. ran D. jumped 

 

Q11. Chhatrapati Shivaji Maharaj was the founder of _________. 
 

A. Maratha empire B. Kalinga empire 

C. Maurya empire D. Gupta empire 

Q11. �}+-? -?=?�I /:?1?� 0O -?9 9?्䵞?जᱍ0 ?ी 0K= 1�I -I? 
 

A. /1? ? @?्䵞?जᱍ0 B. �ल ?� @?्䵞?जᱍ0 

C. /L0/ @?्䵞?जᱍ0 D. �Io, @?्䵞?जᱍ0 
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Q12. __________ was considered the political guru of Mahatma Gandhi. 
 

A. Bala Gangadhar Tilak B. Mohammad Ali Jinnah 

C. Gopal Krishna Gokhale D. Subash Chandra Bose 

Q12. -0म⹍0-ि-�? /े䜂 9O -?9O /:?m/?  ??/I ?? 1?�0I-??  Jy /?0? �??? :P? 
 

A. -?  �?�?/1 -, � B. /KAम⹍/. 
 I �?m0? 

C. �K+?  �ृ�+ �K� O D. @I.?? �?� -K@ 

 

Q13. India recently played the pink ball test match in Kolkata against ________. 
 

A. West Indies B. Bangladesh 

C. Australia D. South Africa 

Q13. .?1? 0O :?ि :I /े䜂 -?9 -ि?O ट टI/ ?O  -=yुp ?Kि???? /े䜂 +:ि? -+?? -Qि टO}ट /P� �Oि? -?? 
 

A. =O}� �?!I? B. -??गᝍ ?.O> 

C. ऑ}रOल 0? D. .्䵌ि+ 
�I�? 
 

Q14. The Statue of Unity is a colossal statue of Indian statesman and independence activist 
____________. 

 

A. Mahatma Gandhi B. Rabindranath Tagore 

C. Sardar Vallabhbhai Patel D. Bal Gangadhar Tilak 

Q14. }टPचᩍ0K ऑ, 0K-0टI .?1?I0 1?�0O?? �1 }=??}?? 9O0?0I ____________ ?ी ए? -=??ि /K-?ु :P| 
 

A. /A?त⑍/? �??/I B. 1==?�0?- �P�K1 

C. @1.?1 =ल㉍ ..?� +�O  D. -?  �?�?/1 -, � 

 

Q15. Which one of the following shipyards is located in Visakhapatnam ? 
 

A. Hindustan shipyard B. Garden Reach Workshop 

C. Naval Dockyard D. Mazgaon Dock 
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Q15. -0म⹍0-ि-�? /े䜂 9O ?L0 9? -?+0?}ु -=??�?+m0/ /े䜂 -}-? :P? 
 

A. 9A?.I},?0 ल>+0?!/ B. �?!/0 1I� =�/ >I+ 

C. 0=  !I�0?!/ D. /��??= !I� 

 

Q16. Who won the Third Battle of Panipat in the year 1761? 
 

A. Ahmad Shah Durrani B. Sadashivrao Bhau (Marathas) 

C. Ibrahim Lodi D. Bairam Khan 

Q16. =}ु 1761 /े䜂 !-ट? +?0I+? ?? ?I91? 0Jp -?90O �I?? -?? 
 

A. 
A/. >?A .I1?/0I B. @.?ल>=1?= .?� (/1? ?) 

C. �}?9A/  K.I D. -P1/ �?0 

 

Q17. Before Kannauj, _________ was the capital of King Harshavardana. 
 

A. Panipat B. Taraori 

C. Thanesar D. Hansi 

Q17. ?m0L� 9O +:िO, _________ 1?�? :}ु=/ु0 ?ी 1?�/?0I -I। 
 

A. +?0I+, B. ,1?�1I 

C. -?0O@1 D. A??@I 
 

Q18. After the 1857 Revolution, the Ballabhgarh State of Tewatia Jats was abolished and its 
king, Raja Nahar Singh was ________ by the British. 

 

A. offered an ambassador post B. made to sign letter of defeat 

C. sent in exile D. hanged to death 

Q18. 1857 ?ी ि??-? ?O  -?., ?O=-?0? �?टो䬂 ?O  1?जᱍ0 -ल㉍ि. ? ?K 9/?्䵎 ?1 -.0?  0? �1 �9?O  1?�?, 1?�? 0?:1 -9?: ?K 
?्䵇O�ो䬂 �?1? 
________| 

 

A. 1??.,ू +. �? �},?= 9.0? �0? B. +1??0 �O  +} +O A},?ि1 �1=?ए �ए 

C. -0=?/@0 /े䜂 .O?? �0? D. ,??@I +1  ��? 9.0? �0? 
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Q19. As on 1-December 2019, who is the Minister for Education in the Haryana Assembly? 
 

A. Shri Anil Vij B. Shri Dushyant Chautala 

C. Shri Kanwar Pal D. Shri Mool Chand Sharma 

Q19. 1 -.9?-1 2019 /े䜂, :र10?,? -=/?09.? /े䜂 -?�? /?}I ?L0 -O? 
 

A. ्䵦I 
-0  ==? B. ्䵦I .I�0?, �L�? ? 

C. ्䵦I �? =1 +?  D. ्䵦I / ू �?. >/?/ 
 

Q20. __________ has been recently appointed Chief Justice of Punjab and Haryana High Court. 
 

A. Justice Ravi Shanker Jha B. Justice Rajiv Sharma 

C. Justice Krishna Murari D. Justice Rakesh Kumar Jain 

Q20. -0म⹍0-ि-�? /े䜂 9O -?9O :?ि :I /े䜂 +?�?- �1 :र10?,? �चᩍ� m0?0?ि0 ?? /J_0 m0?0?/I? -00J्䴹 -?0?  0? :P? 
 

A. ?�}�@ 1== >?�1 �? B. ?�}�@ 1??I= >/?/ 

C. ?�}�@ �ृ�+ /I1?1I D. ?�}�@ 1?�O > �I /?1 ?P0 

 

Q21. Who won Mrs. India Tourism Universal-2019 from Haryana? 
 

A. Mrs. Sheetal Chauhan B. Mrs. Manisha Gaur 

C. Mrs. Sheetal Hooda D. Mrs. Kavita Singh 

Q21. :र10?,? 9O -/9O� �?-}0? टKर1जᱍ/ 0K-0=9ुि-2019 -?90O �I?I? 
 

A. ्䵦I/,I >I,  �LA?0 B. ्䵦I/,I /0I?? �L= 

C. ्䵦I/,I >I,  AIड⅍!? D. ्䵦I/,I �==,? ल@?A 
 

Q22. Sandeep Chaudhary and Sumit Antil bagged gold and silver medal respectively in Para 
Athletic Championship held in Dubai. They won these award for which sport? 

 

A. Javelin throw B. Wrestling 

C. Discuss Throw D. Swimming 

 

 

www.mseducationtv.com



 

Adv. No. 11/2019, Cat No. 01, Junior System Engineer, 

DHBVN, UHBVN & HVPNL DEPARTMENT, HARYANA 

AfterNoon Session 
 

February 27, 2020  Page 6 of 28 

 

Q22. 9?.I+ �L/1I �1 9J-/? 
?-?ि 0O .J-� /े䜂 �0K-�? +P1? ए-िO-ट? �P-म⹍+00-?+ /े䜂 ि/?� }=,ु �1 1�? +.? �I??। �m:ो䬂0O 0O +J1}??1 
-?9 �Oि ?O  -िए �I?? :P? 

 

A. .? ? ,े䜂 � B. �I �,I 

C. )!}�@ }K D. ,P1?�I 
 

Q23. Which two sportsperson of Haryana joined Bhartiya Janta Party (BJP) recently? 
 

A. Shri Yuzvendra Chahal and Sakshi Malik B. Shri Joginder Sharma and Babita Kumari 

C. Shri Yogeshwar Dutt and Shri Sandeep Singh D. Shri Virendra Singh and Shri Bajrang Punia 

Q23. :?ि :I /े䜂 :र10?,? ?O  ?L0 9O .K -�ि?)I .?1?I0 �0?? +?टI (.?�+?) /े䜂 ??-/ि :ुए :ै䠂? 
 

A. ्䵦I 0I?=े䜂� �A  �1 @?िI /ल � B. ्䵦I ?K��m.1 >/?/ �1 ---,? �I /?1I 

C. ्䵦I 0K�O�=1 .्䵈 �1 @?.I+ ल@?A D. ्䵦I =I1े䜂.1 ल@?A �1 -?1?� +I-00? 
 

Q24. Which is the first national newspaper of Haryana? 
 

A. Haribhumi B. Jan Satta 

C. Dainik Jagran D. Parbhav 

Q24. :र10?,? ?? +:ि? 1?�रI0 9/?�?1 +} ?L09? :P? 
 

A. A91.लू/ B. ?0 @्䵈? 

C. .P-0� ??�1+ D. �.?= 
 

Q25. Rajaram Shastri wrote _________ novel in Haryanvi language. 
 

A. Jhadufiri B. Shyam Satsai 

C. Satyagrahi D. Prahlad 

Q25. 1?�?1?/ ??ኚ验I 0O :र10?,=I .?}? /े䜂 _________ �+m0?9 -ि�?। 
 

A. �?!ू,I1I B. �0?/@,@� 

C. @त⑍0?्䵇AI D. �} ?. 
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Q26. Bhadiyon ke Dhang was written by _________. 
 

A. Khushi Ram Sharma B. Bishambar Nath Kaushik 

C. Tulsidas Sharma Dinesh D. Uday Bhanu Hans 

Q26. .O-}/ो䬂 ?? +?  _________ ?O  �?1? -ि�?  0? -?। 
 

A. ख़I>I 1?/ >/?/ B. -->म⹍-1 0?- �Lल>� 

C. ,I @I.?@ >/?/ 9.0O> D. �.0 .?0I A?@ 

 

Q27. Which play was NOT written by Harshavardhana? 
 

A. Ratnavali B. Harsha Charita 

C. Priyadarshika D. Nagananda 

Q27. -0म⹍0-ि-�? 0?ट?ो䬂 /े䜂 :}ु=/ु0 0O ?L0 9? 0?ट? 0:K -ि�? -?? 
 

A. 1त⑍0?= I B. A?/ �91, 

C. =�0.ल>/�? D. 0?�?0?. 
 

Q28. Sahibi river originates in which amongst the following districts? 
 

A. Pinjore B. Rewari 

C. Mahendragarh D. Mewat 

Q28. 9?-:-I 0.I ?? �्䴽/ -0म⹍0 /े䜂 9O -?9 -�िO /े䜂 :K?? :P? 
 

A. =+??K1 B. 1O=?=I 

C. /Aे䜂��] D. /O=?, 

 

Q29. Which amongst the following lies to the southwest of Haryana? 
 

A. The Aravali Range B. The Yamuna-Ghaggar plain 

C. The Shivalik Hills D. Semi-desert sandy plain 
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Q29. -0म⹍0-ि-�? /े䜂 9O ]0? :र10?,? ?O  .-�,I-+-ि/ /े䜂 -}-? :P? 
 

A. 
1?= I +=/,/? ? B. 0/I0?- गᝍ�1 /P.?0 

C. ल>=?ल � 9Aल㉍@ D. 
//-1O��},?0 1O,I ? /P.?0 

 

Q30. Which district of Haryana has the largest forest area? 
 

A. Pinjore B. Rewari 

C. Karnal D. Panchkula 

Q30. :र10?,? ?O  -?9 -�िO /े䜂 9-9O -)? =0 �O} :P? 
 

A. =+??K1 B. 1O=?=I 

C. �0/  D. +?��I  ? 
 

Q31. Anangpur Dam is located in which district of Haryana? 
 

A. Panchkula B. Faridabad 

C. Yamunanagar D. Sirsa 

Q31. 
0? +J1 -??/ :र10?,? ?O  -?9 -�िO /े䜂 -}-? :P? 
 

A. +?��I  ? B. ,1I.?-?. 

C. 0/I0?0�1 D. ल@1@? 
 

Q32. Who is the current deputy speaker in Haryana Legislative Assembly? 
 

A. Shri Ranbir Singh Gangwa B. Shri Bhupinder Singh Hooda 

C. Shri Kanwar Pal Gujjar D. Shri Abhay Singh Chautala 

Q32. :र10?,? -=/?09.? /े䜂 =?ु/?0 -}oटI }+I?1 ?L0 :ै䠂? 
 

A. ्䵦I 1+-I1 ल@?A �?�=? B. ्䵦I .=ू+?.1 ल@?A AI!? 

C. ्䵦I �	 =1 +?  �Iजᱍ?1 D. ्䵦I 
.0 ल@?A �L�? ? 
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Q33. Panchayat Samiti is the _____ tier of the Panchayati Raj in Haryana. 
 

A. fourth B. third 

C. first D. second 

Q33. +?�?0? 9-/-?, :र10?,? /े䜂 +?�?0?I 1?� ?ी _____ ्䵦O,I :P। 
 

A. �L-? B. ,I@1? 

C. +A ? D. .@ू1? 
 

Q34. Which district of Haryana was declared as open defecation free (ODF) in August, 2018? 
 

A. Kaithal B. Ambala 

C. Rewari D. Karnal 

Q34. :र10?,? ?O  -?9 -�िO ?K 
 }?, 2018 /े䜂 �JिO /े䜂 ?L� /J्䴹 (�}Iए,) !K-}? -?0?  0? -?? 
 

A. �P -  B. 
म⹍-? ? 

C. 1O=?=I D. �10?  

 

Q35. There are two main types of crops in Haryana: Rabi and Kharif. Which amongst the 
following is NOT a Kharif crop? 

 

A. Bajra B. Rice 

C. Mustard D. Maize 

Q35. :र10?,? /े䜂 .K /J_0 �??1 ?ी ?9िे䜂 :ै䠂: 1-I �1 �1I?। -0म⹍0-ि-�? /े䜂 9O ?L0 �1I, ?ी ,9ि 0:K :P? 
 

A. -??1? B. �?=  

C. @1@ो䬂 D. /कᕍ�? 
 

Q36. Data is represented in computers in ___________ form. 
 

A. Octal B. Binary 

C. Hexadecimal D. Numerical 
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Q36. }Oट? ?K ___________ z+ /े䜂 ?? o0Kट1 /े䜂 .??ु0? �??? :P। 
 

A. ऑकᕍ�  B. -?�01I 

C. AOकᕍ@?!O@I/  D. m0ू/O91�  

 

Q37. Match the terms related to operating systems and their meanings.

 
 

A. 1-b,2-a,3-c B. 1-a,2-b, 3-c 

C. 1-c, 2-a,3-b D. 1-b, 2-c, 3-a 

Q37. 

 

 

A. 1-b,2-a,3-c B. 1-a,2-b, 3-c 

C. 1-c, 2-a,3-b D. 1-b, 2-c, 3-a 

 

Q38. Bar code reader is an example of a/an __________ device. 
 

A. Output B. Processing 

C. Storage D. Input 

Q38. -?1 ?K} 1I}1__________ -}=?�9 ?? ए? �.?:1, :P| 
 

A. ���+I� B. �K@Oल@?� 

C. }�K1O? D. �0+I� 
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Q39. In Internet parlance, SSL stands for ________________________. 
 

A. Secure Sockets Layer B. System Socket Layer 

C. Superuser System Login D. Secure System Login 

Q39. �?ट10Oट .?}? /े䜂, SSL ?? 
9?-�्䵎 z+ ________ :K?? :P| 
 

A. ल@कᕍ0K1 @I�O टὍ@  O01 B. ल@}�/ @I�O �  O01 

C. @I+10?ू1 ल@}�/  I��0 D. ल@कᕍ0K1 ल@}�/  I��0 

 

Q40. Pick the odd one out. 
 
Mercury, Moon, Jupiter, Saturn, Venus, Earth 

 

A. Mercury B. Moon 

C. Jupiter D. Saturn 

Q40. -=}/ ?? �00 ?1े䜂: 
 

-J/, �?�/?, -L:}+-?, ?-0, ?Jि, +Lm=I 
 

A. -I/ B. �?�/? 

C. -Aृ}+-, D. >-0 ्䵇A 
 

Q41. WAR: DESTRUCTION: : SMOKE : ? 
 

A. BURNING B. POLLUTION 

C. FIRE D. WIND 

Q41. 0Jp:-=0??: :/J�?: ? 
 

A. ? ,? AI� B. �.?ू+ 

C. �� D. A=? 
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Q42. In the series 9, 12, 10, 13, 11, 14, ___. What comes next in series? 
 

A. 11 B. 9 

C. 12 D. 16 

Q42. .I  0I ्䵦L?�ि? ?K .O-�ए: 9, 12, 10, 13, 11, 14, ____। ्䵦L?�ि? /े䜂 
 ि? 
?? ]0? :K ?? 
 

A. 11 B. 9 

C. 12 D. 16 

 

Q43. In a certain code TEACHER is written as RAECEHT then how will STUDENT be written 
in that code? 

 

A. TNUDETS B. TTUDENS 

C. TNEDUTS D. TUTDNES 

Q43. ए? 9???O -?? .?}? /े䜂 TEACHER ?K RAECEHT ?O  z+ /े䜂 -ि�?  0? :P ?K, �9 9???O -?? .?}? /े䜂 STUDENT ?K 
?P 9O -ि�? �?ए ?? 

 

A. TNUDETS B. TTUDENS 

C. TNEDUTS D. TUTDNES 

 

Q44. Simplify. 

 
 

A. 51 B. 53 

C. 41 D. 42 

Q44. 91िI?1, ?ी-�ए: 

 
 

A. 51 B. 53 

C. 41 D. 42 
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Q45. A man buys a watch for Rs. 2400 and sells it at a loss of 15%. What is the selling price of 
the watch? 

 

A. Rs.1200 B. Rs.2040 

C. Rs.2000 D. Rs.2100 

Q45. ए? �./I 2400 y+0O /े䜂 ए? !)I �1I.?? :P �1 �9O 15 �-??? ?ी :?-0 +1 -O� .O?? :P। !)I ?? -=ि0 /Kल㉍0 ]0? :P? 
 

A. 1200 y+0O B. 2040 y+0O 

C. 2000 y+0O D. 2100 y+0O 
 

Q46. A vendor buys 10 dozens of toys at the rate of Rs.600 per dozen. He sold each toy at the 
rate of Rs.55. What is the profit percentage? 

 

A. 12% B. 8% 

C. 15% D. 10% 

Q46. ए? =े䜂}1 �-? .�ु0 ?ी .1 9O 600 y+0O /े䜂 10 .�ु0 -�िL0O �1I.?? :P। �90O �m0O? -�िL0O ?K 55 y+0O ?ी .1 9O -O�?। ि?. 
�-??? ?? _?? ?1े䜂। 

 

A. 12% B. 8% 

C. 15% D. 10% 

 

Q47. 80% of 60 is greater than 70% of 40 by _______. 
 

A. 30 B. 10 

C. 20 D. 40 

Q47. 60 ?? 80%, 40 ?O  70% 9O _______ 
-/? :P। 
 

A. 30 B. 10 

C. 20 D. 40 

 

Q48. What type of lens is used in a microscope? 
 

A. Convex B. Concave 

C. Bifocal D. Bilateral 

 

www.mseducationtv.com



 

Adv. No. 11/2019, Cat No. 01, Junior System Engineer, 

DHBVN, UHBVN & HVPNL DEPARTMENT, HARYANA 

AfterNoon Session 
 

February 27, 2020  Page 14 of 28 

 

Q48. /?�िK}?K+ /े䜂 -?9 �??1 ?O  िे䜂9 ?? �+0K  -?0? �??? :P? 
 

A. �्䵈  B. 0,K.1 

C. द♍==0?ल., D. द♍==+िI0 

 

Q49. In a food chain,which of the following is a <producer=? 
 

A. Fishes B. Insects 

C. Bacteria D. Plants 

Q49. ए? �?o ्䵦L?�ि? /े䜂, -0म⹍0-ि-�? /े䜂 9O ?L0 ए? 8-0/??ु?9 :P? 
 

A. /�ल 0?	 B. �I=O 

C. ?I=?+I D. +L/O 
 

Q50. What is the pH value of pure water? 
 

A. 0 B. 4 

C. 7 D. 14 

Q50. ?Jp +?0I ?? pH /?0 ]0? :P? 
 

A. 0 B. 4 

C. 7 D. 14 

 

Q51. The important role of a Secure OS developer is ________ . 
 

A. to protect the trusted computing base from 

threats. 

B. to provide user access and authorization. 

C. to develop codes for the users. D. to allow execution of untrustworthy 

applications. 

Q51. -9]0K1 OS }O=ि+1 ?ी /:m=+K,ु .K-/?? :P ________| 
 

A. ==�=@0I0 �? o09ू�?� -O@ �K �,1ो䬂 @O -�?0?। B. �+0K��,?/ �K +AI?� �1 �?�/�1+ �.?0 �10?। 

C. �+0K��,?/�? �O  ल ए �K! ==�?ल@, �10?| D. 
==�=@0I0 
0I�0K�ो䬂 �O  -0�+?.0 �I 
0I/-, .O0?| 
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Q52. Which one of the following is used to input audio and record different sounds into the 
computer? 

 

A. Microphone B. MICR Reader 

C. Web Camera D. Joystick 

Q52. -0म⹍0-ि-�? /े䜂 9O -?9?? �+0K  ऑ-}0K �0+Jट ?10O �1 ?? o0Kट1 /े䜂 -=-.m0 o=-00ो䬂 ?K र1?Q}ु ?10O ?O  -िए -?0? �??? :P? 
 

A. /?�्䵅KफK0 B. MICR 1I!1 

C. =O- �P /1? D. ?K0}�I� 

 

Q53. Computer Security Classification of _____ permits user groups for access control. 
 

A. Type A B. Type B2 

C. Type B3 D. Type D 

Q53. _____ ?? ?? o0Kट1 9J1�? = I?1, 
-. / -00?}, ?O  -िए �+0K ???ु 9/K:ो䬂 ?K 
0J/-? .O?? :P। 
 

A. ��?1 A B. ��?1 B2 

C. ��?1 B3 D. ��?1 D 

 

Q54. _____is a program threat which executes illegal action without the user's knowledge. 
 

A. Port Scanning B. Trap Door 

C. Worm D. Denial of Service 

Q54. _____ ए? �K्䵇?/ �?1? :P �K �+0K ???ु ?O  _?0 ?O  --0? 
=P/ ??1ु=?� ?1=??? :P। 
 

A. +K�/ }�P -0?� B. रP+ !K1 

C. =K// D. @O=? �I /0?� 
 

Q55. The transforms are _______ . 
 

A. customizations added to the installer packages. B. used to upgrade the software. 

C. assignments made during installations. D. used to republish the software. 
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Q55. र?m}?Kम⹍9सु ]0? _______ :ै䠂। 
 

A. �m@�Lल㉍ 1 +P�O ? �O  @?, ?I!O ??0O=? O 
0I�ू 0। B. @Io�=O01 �K 
+्䵇O! �10O �O  ल ए �+0K� ��0? ??,? AP। 

C. }-?+0? �O  .L1?0 ��ए �ए ??0O=? O �?0/। D. @Io�=O01 �K +I0ः ��?ल>, �10O �O  ल ए �+0K� ��0? 
??,? AP। 

 

Q56. Which among the following cannot be performed by the transforms? 
 

A. modification of information in the installer 

database. 

B. remove the persistent table in the installer 

database. 

C. add the persistent table in the installer 

database. 

D. modification of information in sub-storages. 

Q56. -0म⹍0-ि-�? /े䜂 9O ?L0 9O, र?m}?Kम⹍9सु �?1? �.?ु0, 0:K -?0? �? 9??? :P? 
 

A. �?}�I 1 !O�?-O@ /े䜂 @�ू0? �? +91=,/0। B. �?}�I 1 !O�?-O@ /े䜂 @,, ्,?ल �? -0�? े䜂। 

C. �?}�I 1 !O�?-O@ /े䜂 @,, ्,?ल �? ?K=े䜂। D. �+-.?!?1+ /े䜂 @�ू0? �? +91=,/0। 
 

Q57. Which of the below actions would include an embedded transform to the transform list? 
 

A. Post fixing the filename with colon. B. Prefixing the filename with colon. 

C. Passing the ampersand symbol in the transform 

list. 

D. Passing the @ symbol in the transform list. 

Q57. 0I�O .I  � ??1ु=?�0ो䬂 /े䜂 9O ?L0-9I, र??9?Q/ु 9K�I /े䜂, ए?-O}O} र??9?Q/ु ?K ??-/ि ?1O I? 
 

A. �K K0 �O  @?- फ?�  0?/ �K +K}��,�कᕍ@?� �10? । B. �K K0 �O  @?- ,?� 0O/ �K �I�फकᕍ@ �10?। 

C. र??@फI// @�ूI /े䜂 एम⹍+1@े䜂! �,I� �K +?@ �10?। D. र??@फI// @�ूI /े䜂 @ �,I� +?@ �10?। 
 

Q58. You are provided with spec.msi, prit1.mst and prit2.mst in the following: 
E:\Data\Specify. 
Identify the right command to apply prit.msi transform. 

 

A. E:\Data\Specify>msiexec /I spec.msi 

TRANSFORMS=prit1;prit2 

B. E:\Data\Specify>msiexec /I 

TRANSFORMS=prit1;prit2 

C. E:\Data\Specify>msiexec /I prit1.msi 

TRANSFORMS=spec;prit2 

D. E:\Data\Specify> exec /I spec.msi 

TRANSFORMS=prit1;prit2 
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Q58. -0म⹍0-ि-�? /े䜂 �+?K spec.msi, prit1.mst �1 prit2.mst -.ए  ए :ै䠂: 
E:\Data\Specify. 

Prit.msi र??9?Q/ु ि? K ?10O ?O  -िए 9:I ?/??} ?K +:�?0े䜂। 
 

A. E:\Data\Specify>msiexec /I spec.msi 

TRANSFORMS=prit1;prit2 

B. E:\Data\Specify>msiexec /I 

TRANSFORMS=prit1;prit2 

C. E:\Data\Specify>msiexec /I prit1.msi 

TRANSFORMS=spec;prit2 

D. E:\Data\Specify> exec /I spec.msi 

TRANSFORMS=prit1;prit2 

 

Q59. Choose the transform type for the following: 
@:tremp2.mst;trempt1.mst 
@trempt1.mst;:trempt2.mst ? 

 

A. trempt2.mst is an embedded transform. 

trempt1.mst is a standalone secure-full-path 

transforms. 

B. trempt2.mst is an embedded transform. 

trempt1.mst.mst is a secure-full-path transform 

only if the TRANSFORMSSECURE property is set. 

C. trempt2.mst is an secure-at-source transforms. 

trempt1.mst is an embedded transform. 

D. trempt2.mst is an embedded transform. 

Q59. -0म⹍0-ि-�? ?O  -िए र??9?Q/ु �??1 �J0े䜂: 
@:tremp2.mst;trempt1.mst 
@trempt1.mst;:trempt2.mst ? 

 

A. trempt2.mst ए� एम⹍-O!O! र??@फI// AP। 
trempt1.mst ए� }�ै䠂!
 K0 @I1्䵌ि,-++ू/-+- र??@फI// AP| 

B. trempt2.mst ए� एम⹍-O!O! र??@फI// AP। 
09. �O =  TRANSFORMSSECURE �I+�ी @O� �I �� AK , 
,K trempt1.mst.mst ए� @I1्䵌ि,-++ू/ +- र??@फI// AP। 

C. trempt2.mst ए� @I1्䵌ि,-
�-@K1}@ ्र??@फI// AP| 
trempt1.mst ए� एम⹍-O!O! र??@फI// AP। 

D. trempt2.mst ए� एम⹍-O!O! र??@फI// AP। 

 

Q60. Which one of the following tools is used for the creation of a new boot sector ? 
 

A. Chkdsk B. Sfc 

C. Msconfigboot D. Fixboot 

Q60. -0म⹍0-ि-�? /े䜂 9O ?L0 9? �+?1, 0ए -Kट 9O]ट1 ?O  -0/?ु, ?O  -िए �+0K  -?0? �??? :P? 
 

A. Chkdsk B. Sfc 

C. Msconfigboot D. Fixboot 
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Q61. Presence of _____virus type does not degrade the system's performance. 
 

A. boot sector B. resident 

C. overwrite D. non-resident 

Q61. _____�??1 ?O  =?�19 ?ी �+-}--?, �,?िI ?O  �.?ु0 ?K, 0I�? 0:K ?1?I :P। 
 

A. -टूὍ @Oकᕍ�1 B. 1Oल@!े䜂� 

C. �=11?�� D. 0I0-1Oल@!े䜂� 
 

Q62. Bablas is an instance of ______ virus. 
 

A. boot sector B. resident 

C. macro D. non-resident 

Q62. --ि? ______ =?019 ?? ए? �.?:1, :P। 
 

A. -�ू @Oकᕍ�1 B. 1Oल@!े䜂� 

C. /P्䵅K D. 0I0-1Oल@!े䜂� 
 

Q63. Which among the following is not an example of macro virus? 
 

A. Melissa B. Hancitor 

C. Chanitor D. MSBlast 

Q63. -0म⹍0-ि-�? /े䜂 9O ?L0 /PिK =?019 ?? �.?:1, 0:K :P? 
 

A. /Oल }@? B. A??ल@�1 

C. �?-0�1 D. MSm ?}� 
 

Q64. Identify the first computer virus and what was the purpose behind its creation? 
 

A. Creeper was created to demonstrate that the 

self-replicating program could be transmitted 

between computer networks. 

B. Brainiac was created to demonstrate that the 

self-replicating program could be transmitted 

between computer networks. 

C. Creeper was created to encrypt the MS-doc 

files. 

D. Creeper was created to destroy the data 

present in the computer. 
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Q64. +:िO ?? o0Kट1 =?019 ?ी +:�?0 ?1े䜂 �1 �9?O  -0/?ु, ?O  +I�O ]0? �oO�0 -?? 
 

A. ्䵅I+1 0A �.ल>/, �10O �O  ल ए -0?0? �0? -? �� �? o0�ू1 
0O�=�/  �O  -I� }=-�-,�ृ-, �K्䵇?/ �K �@?91, ��0? ?? @�,? 
AP। 

B. }O-00?� 0A �.ल>/, �10O �O  ल ए -0?0? �0? -? �� 

�? o0�ू1 0O�=�/  �O  -I� }=-�-,�ृ-, �K्䵇?/ �K �@?91, ��0? 
?? @�,? AP। 

C. MS-doc फ?� ो䬂 �K ए�m्䵅o� �10O �O  ल ए ्䵅I+1 -0?0? 
�0? -?। 

D. �? o0�ू1 /े䜂 /L?.ू !O�? �K 0�� �10O �O  ल ए ्䵅I+1 -0?0? 
�0? -?। 

 

Q65. Which of the below tasks is not performed by an AV program? 
 

A. Detection of malicious software. B. Destruction of computer viruses. 

C. Development of codes for the users. D. Protection of system from threats. 

Q65. AV ??0ुि/ �?1? 0I�O -.ए  ए ??0ो䬂 /े䜂 9O ?L0 9? ??0ु 0:K -?0? �??? :P? 
 

A. .I.?/=0?++ू/ @I़㱸�=O01 �? +,?  �?0?। B. �? o0�ू1 =?01@ �? ==0?> �10?। 

C. �+0K��,?/�? �O  ल ए �K! �? ==�?@ �10?। D. �,1ो䬂 @O �+? I �? @?1ि+ �10?। 
 

Q66. You are required to upgrade a OS from 32-bit to 64-bit. Which is the right step and system 
type to determine the system compatibility for the same? 

 

A. Start-->Computer-->Properties-->System--

>System Type-->64-bit Operating System, x32-

based processor. 

B. Start-->Computer-->Properties-->System--

>System Type-->32-bit Operating System, x64-

based processor. 

C. Start-->Computer-->Properties-->System--

>System Type-->64-bit Operating System, x64-

based processor. 

D. Start-->Computer-->Properties-->System--

>System Type-->64-bit Operating System, x86-

based processor. 

Q66. �+?K 32---ट 9O 64---ट ?? �ए9 ?K 
+्䵇O} ?10? �=�0? :P। �9I ?O  -िए -9}ट/ 9? ??? -0/?ुर1? ?10O ?O  -िए 9:I ?./ 

�1 -9}ट/ �??1 ?L0 9? :P? 
 

A. }�?�/ -> �? o0�ू1 -> �I+�ी? -> ल@}�/ -> ल@}�/ 

��?1 -> 64---� ऑ+1O9�?� ल@}�/, x32- �/?91, �K@O@1। 
B. �?1?. -> �? o0�ू1 -> �I+�ी? -> ल@}�/ -> ल@}�/ 

��?1 --> 32---� ऑ+1O9�?� ल@}�/, x64- �/?91, �K@O@1। 

C. }�?�/ -> �? o0�ू1 -> �I+�ी?-> ल@}�/ -> ल@}�/ ��?1 
-> 64---� ऑ+1O9�?� ल@}�/, x64- �/?91, �K@O@1। 

D. }�?�/ -> �? o0�ू1 -> �I+�ी?-> ल@}�/ -> ल@}�/ ��?1 
-> 64---� ऑ+1O9�?� ल@}�/, x86- �/?91, �K@O@1। 
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Q67. After removing your first hard-disk, the following error appears while rebooting the 
system, 
"Press F2 to enter Setup". 
What is the possible cause and how do you proceed further? 

 

A. Cause :The changes in the Hard-disk are not 

reflected in the BIOS setting .By default, it tries to 

boot from the first harddisk. 

Solution: 

i)Press enter and choose 'Standard CMOS 

Features' 

ii)Change "IDE Auto-Detection" to 'Auto' 

B. Cause :The changes in the Hard-disk are not 

reflected in the BIOS setting .By default, it tries to 

boot from the first harddisk. 

Solution: 

i)Press enter and choose 'Advanced BIOS 

Features' 

ii)Change "IDE Auto-Detection" to 'Auto' 

C. Cause :The changes in the Hard-disk are not 

reflected in the BIOS setting .By default, it tries to 

boot from the first harddisk. 

Solution: 

i)Press enter and choose 'Load Optimized defaults' 

ii)Save and exit. 

D. Cause :The changes in the Hard-disk are not 

reflected in the BIOS setting .By default, it tries to 

boot from the first harddisk. 

Solution: 

i)Press enter and choose 'Advanced BIOS 

Features' 

ii)Set Drive A to None. 

Q67. 
+0I +:िI :?}ु--}}? ?K -0??ि0O ?O  -?., -9}ट/ ?K र1-Kट ?1?O 9/0 -0म⹍0 }J-ट -.�?� .O?I :P, 
"9Oट
+ /े䜂 �=O? ?10O ?O  -िए F2 .-?ए?"। 
9?.?-=? ??1, ]0? :P �1 �+ � O ?P 9O -??O :ै䠂? 

 

A. �?1+: A?!/-)!}� /े䜂 +91=,/0, BIOS @O9�?� /े䜂, +91 ्䵌ि, 

0AI? AK,O Aै䠂। )!फIल㉍� z+ @O, 0A +A I A?!/)!}� @O -�ू �10O �? 
�0?@ �1,? AP। 
@/?/?0: 

i) ए?�1 .-?ए	 �1 '}�ै䠂!!/ CMOS ,I�@/' �I0े䜂। 
ii) "IDE ऑ�K-)!�Oकᕍ>0" �K 'Auto' /े䜂 -. े䜂 

B. �?1+: A?!/-)!}� /े䜂 +91=,/0, BIOS @O9�?� /े䜂 +91 ्䵌ि,, 

0AI? AK,O Aै䠂। )!फIल㉍� z+ @O, 0A +A I A?!/)!}� @O -�ू �10O �? 
�0?@ �1,? AP। 
@/?/?0: 

i) ए?�1 .-?ए? �1 'ए!=??}! BIOS ,I�@/' �I0े䜂। 
ii) "IDE ऑ�K-)!�Oकᕍ>0" �K 'Auto' /े䜂 -. े䜂 

C. �?1+: A?!/-)!}� /े䜂 +91=,/0, BIOS @O9�?� /े䜂 +91 ्䵌ि,, 

0AI? AK,O Aै䠂। )!फIल㉍� z+ @O, 0A +A I A?!/)!}� @O -�ू �10O �? 
�0?@ �1,? AP। 
@/?/?0: 

i) ए?�1 .-?ए? �1 ' K! ऑ�o�/?�़㱩! )!,Iल㉍टὍ@' �I0े䜂 
ii) @O= �1े䜂 �1 -?A1 -0� े䜂। 

D. �?1+: A?!/-)!}� /े䜂 +91=,/0 BIOS @O9�?� /े䜂 +91 ्䵌ि, 

0AI? AK,O Aै䠂। )!फIल㉍� z+ @O, 0A +A I A?!/)!}� @O -�ू �10O �? 
�0?@ �1,? AP। 
@/?/?0: 

i) ए?�1 .-?ए? �1 'ए!=??}! BIOS ,I�@/' �I0े䜂। 
ii) ्䵑?�= ए �K �K� 0m0 +1 @O� �1े䜂। 

 
 
 
 

www.mseducationtv.com



 

Adv. No. 11/2019, Cat No. 01, Junior System Engineer, 

DHBVN, UHBVN & HVPNL DEPARTMENT, HARYANA 

AfterNoon Session 
 

February 27, 2020  Page 21 of 28 

 

Q68. There are unresolvable errors during booting of a Dell computer. 
How would you overcome? 

 

A. Resetting to the default values in CMOS may 

help. 

Steps are: 

 

i)Enter CMOS. 

ii)Use shortcut F10. 

iii)Press Y to confirm. 

iv)Save and exit. 

B. Resetting to the default values in CMOS may 

help. 

Steps are: 

 

i)Enter CMOS. 

ii)Use shortcut F9. 

iii)Press Y to confirm. 

iv)Save and exit. 

C. Resetting to the default values in CMOS may 

help. 

Steps are: 

 

i)Enter CMOS. 

ii)Use shortcut F1. 

iii)Press Y to confirm. 

iv)Save and exit. 

D. Resetting to the default values in CMOS may 

help. 

Steps are: 

 

i)Enter CMOS. 

ii)Use shortcut F8. 

iii)Press Y to confirm. 

iv)Save and exit. 

Q68. ए? }Oि ?? o0Kट1 ?O  -K-ट?  ?O  .L1?0 9??ल㉍+ 1-:? }J-ट0?? :ै䠂। 
?P 9O +?1 +?� O? 

 

A. CMOS /े䜂 )!फIल㉍� /?0ो䬂 �K 1I@O� �10O @O /.. ल/  @�,I 
AP। 
�1+ Aै䠂: 
 

i) CMOS .?/ �1े䜂। 
ii) >I�/�� F10 �? �+0K� �1े䜂। 
iii) +I��� �10O �O  ल ए Y .-?ए?। 
iv) @O= �1े䜂 �1 -?A1 -0� े䜂। 

B. CMOS /े䜂 )!फIल㉍� /?0ो䬂 �K 1I@O� �10O @O /.. ल/  @�,I 
AP। 
�1+ Aै䠂: 
 

i) CMOS .?/ �1े䜂। 
ii) >I�/�� F9 �? �+0K� �1े䜂। 
iii) +I��� �10O �O  ल ए Y .-?ए?। 
iv) @O= �1े䜂 �1 -?A1 -0� े䜂। 

C. CMOS /े䜂 )!फIल㉍� /?0ो䬂 �K 1I@O� �10O @O /.. ल/  @�,I 
AP। 
�1+ Aै䠂: 
 

i) CMOS .?/ �1े䜂। 
ii) >I�/�� F1 �? �+0K� �1े䜂। 
iii) +I��� �10O �O  ल ए Y .-?ए?। 
iv) @O= �1े䜂 �1 -?A1 -0� े䜂। 

D. CMOS /े䜂 )!फIल㉍� /?0ो䬂 �K 1I@O� �10O @O /.. ल/  @�,I 
AP। 
�1+ Aै䠂: 
 

i) CMOS .?/ �1े䜂। 
ii) >I�/�� F8 �? �+0K� �1े䜂। 
iii) +I��� �10O �O  ल ए Y .-?ए?। 
iv) @O= �1े䜂 �1 -?A1 -0� े䜂। 
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Q69. Which of the below processes requires you to take memory dump for error deduction? 
 

A. Upgrading B. Manual Installation 

C. Debugging D. Installing AV 

Q69. -0म⹍0 /े䜂 9O ?L0 9I �-ि0? /े䜂 ,�+?K }J-ट ?टL?I ?O  -िए, /O/K1I }?+ िO0O ?ी �=�0??? :P? 
 

A. 
+्䵇O)! ?� B. /P0I
  }-?+0? 

C. )!-��?� D. ए=I }-?=+, �10? 
 

Q70. Which among the following tools can help you to disable advance debugging in windows 
? 

 

A. UMDH B. USBView 

C. SymChk D. GFlags 

Q70. -0म⹍0 �+?1,ो䬂 /े䜂 9O ?L0 �+?K -=?}K= /े䜂 
-्䵇/ }I-- ?  ?K 
�/ ?10O /े䜂 /.. ?1 9??? :P? 
 

A. UMDH B. USBView 

C. SymChk D. GFlags 

 

Q71. Which two components of windows XP are read by NTLoader 
during the boot process? 

 

A. NTLDR and boot.ini B. boot.ini and NTDETECT.com 

C. NTLDR and NTDETECT.com D. BOOTMGR and boot.ini 

Q71. -Kट �-ि0? ?O  .L1?0, Windows XP ?O  ?L0 9O .K !ट?, NT Loader �?1? +?O �??O :ै䠂? 
 

A. NTLDR �1 boot.ini B. boot.ini �1 NTDETECT.com 

C. NTLDR �1 NTDETECT.com D. BOOTMGR �1 boot.ini 

 

Q72. Which among the following helps in managing Registry in Windows10? 
 

A. CMD B. PowerShell 

C. DOS D. Pipe Commands 
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Q72. -0म⹍0-ि-�? /े䜂 9O ?L0 -=?}K� 10 /े䜂 1-�}रI ?O  �-?/0 /े䜂 /.. ?1?? :P? 
 

A. CMD B. +I=1>O  

C. DOS D. +?�+ �/??! 
 

Q73. Which of the following actions are not performed during the PreBoot Execution 
Environment Boot method? 

 

A. The Preboot Execution Environment requires 

CD-ROM to perform automatic installation . 

B. The Preboot Execution Environment requires 8 

GB of RAM to perform automatic installation . 

C. The Preboot Execution Environment does 

installation of an operating system whose files are 

on a network drive. 

D. The Preboot Execution Environment requires 

USB to perform automatic installation. 

Q73. �I-Kट ए]9]0K?0 ए0=?01/े䜂ट -Kट -=-/ ?O  .L1?0 -0म⹍0-ि-�? /े䜂 9O ?L0 9I ??1ु=?� 0:K ?ी �??I :P? 
 

A. �I-�ू एकᕍ@कᕍ0ू>0 ए0=?01/े䜂� �K }=�?ल , }-?+0? �10O 
�O  ल ए CD-ROM �I �=�0�,? AK,I AP। 

B. �I-�ू एकᕍ@कᕍ0ू>0 ए0=?01/े䜂� �K }=�?ल , }-?+0? �10O 
�O  ल ए 8 GB RAM �I �=�0�,? AK,I AP। 

C. �I-�ू एकᕍ@कᕍ0ू>0 ए0=?01/े䜂� ए� ऑ+1O9�?� ल@}�/ �I 
}-?+0? �1,? AP �?@�I ,?�  0O�=�/  ्䵑?�= +1 AK,I AP। 

D. �I-�ू एकᕍ@कᕍ0ू>0 ए0=?01/े䜂� /े䜂 USB �K }=�?ल , 

}-?+0? �10O �I �=�0�,? AK,I AP| 
 

Q74. '_______' level languages are used to write the system software and '_______' level 
languages are used to write the application software. 

 

A. Low ,high B. High, low 

C. High, high D. Low, low 

Q74. '_______' }?1I0 .?}?� ? ?? �+0K  -9}ट/ 9Qoट=O01 -ि�0O ?O  -िए -?0? �??? :P �1 '________' }?1 .?}?� ? ?? 
�+0K  ए-oि?O ?0 9Qoट=O01 -ि�0O ?O  -िए -?0? �??? :P| 

 

A.  L, A?� B. A?�,  K 

C. A?�, A?� D.  K,  K 
 

Q75. Which of the following is the Low level language used for system programming? 
 

A. C# B. C++ 

C. Assembly D. Pascal 
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Q75. �0 /े䜂 9O ?L0 9I -0म⹍0 }?1I0 .?}? :P �K -9}ट/ �K्䵇?-/?  ?O  -िए �+0K  ?ी �??I :P? 
 

A. C# B. C++ 

C. 
}@Oम⹍m I D. +?}�  

 

Q76. The octal number system consists of _____ digits. 
 

A. 8 B. 2 

C. 16 D. 10 

Q76. ऑ]टि 9?_0? �,?िI /े䜂 _____ 
?? :K?O :ै䠂। 
 

A. 8 B. 2 

C. 16 D. 10 

 

Q77. Flooding the internet with emails or text messages to a large number of users is called 
______ . 

 

A. Vishing B. Spoofing 

C. Phishing D. Spamming 

Q77. -)I 9?_0? /े䜂 �+0K ???ु� ? ?K �/Oि 0? टO]}ट /O9O�9 ?O  9?- �?ट10Oट ?K -?? .O0? ______ ?:? �??? :P। 
 

A. ==ल>?� B. }+ू�,? � 

C. �,ल>?� D. }+Pल/?� 

 

Q78. The high level language converted into machine/binary language is called as _______ . 
 

A. source code B. object code 

C. assembly code D. load code 

Q78. �चᩍ� }?1I0 .?}? ?K /?I0 / -?�01I .?}? /े䜂 _______ ?O  0?/ 9O +र1=-?ु? -?0? �??? :P| 
 

A. @K@/ �K! B. ऑm?Oकᕍ� �K! 

C. 
}@Oम⹍m I �K! D.  K! �K! 
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Q79. TeraData, IBM DB2, MySQL and Oracle are examples of ____ application Software. 
 

A. MultiMedia B. Presentation 

C. DataBase D. Spreadsheet 

Q79. TeraData, IBM DB2, MySQL �1 Oracle ____ एoिI?O ?0 9Qoट=O01 ?O  �.?:1, :ै䠂। 
 

A. /ल㉍�I/I)!0? B. �O@े䜂�O>0 

C. !O�?-O@ D. }�O!>I� 
 

Q80. Which one of the following is NOT a data compression program? 
 

A. WinZip B. RAR 

C. 7-Zip D. Unix 

Q80. -0म⹍0-ि-�? /े䜂 9O ?L0 }Oट? ?म⹍�O?0 �K्䵇?/ 0:K :P? 
 

A. ==0�?+ B. RAR 

C. 7-�?+ D. 0-ू0कᕍ@ 

 

Q81. _____ software is a type of business software which is specifically designed for 
automation of strategic processes and rapid development. 

 

A. Business Process Management(BPM) B. Best Process Management(BPM) 

C. Build Project Management(BPM) D. Build Process Management(BPM) 

Q81. _____ 9Qoट=O01 ए? �??1 ?? }0?=9?-0? 9Qoट=O01 :P -�9O -=?O} z+ 9O 1,0I-?? �-ि0?� ? ?O  }=�?ि0 �1 ?O�I 9O -=??9 
?O  -िए -}=?�0 -?0?  0? :P। 

 

A. --ज़0O@ �K@O@ /P0O?/े䜂� (BPM) B. -O}� �K@O@ /P0O?/े䜂� (BPM) 

C. --ल㉍! �K?Oकᕍ� /P0O?/े䜂� (BPM) D. --ल㉍! �K@O@ /P0O?/े䜂� (BPM) 

 

Q82. Out of the below options what defines the 'Operating System'? 
 

A. Software which is an interface between 

computer hardware and the end user 

B. A type of social engineering to get information 

of users 

C. Collection of physical parts of a computer 

system 

D. Software package designed to define, 

manipulate, retrieve and manage data in a 
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database 

Q82. 0I�O -.ए  ए -=?ल㉍+ो䬂 /े䜂 9O 'ऑ+1O-ट?  -9}ट/' ]0? +र1.?-}? ?1?? :P? 
 

A. @Io�=O01 ?K �? o0�ू1 A?!/=O01 �1 
?, �+0K��,?/ �O  -I� 

ए� �?�1फO @ AP 
B. �+0K��,?/�? �I ??0�?1I �?o, �10O �O  ल ए ए� ��?1 �I 
@K>  �??I-0091?� 

C. �? o0�ू1 ल@}�/ �O  .L-,� .?�ो䬂 �? @?्䵇A D. ए� !O�?-O@ /े䜂 !O�? �K +91.?=?, �10O, AO1,O 1 �10O, 
+I0�?/o, �10O �1 �-?�/, �10O �O  ल ए )!ज़?�0 ��0? �0? 
@I़㱸�=O01 +P�O ? 

 

Q83. Which of the following is the discontinued operating system? 
 

A. Windows B. Linux 

C. Ubuntu D. Palm 

Q83. -0म⹍0-ि-�? /े䜂 9O ?L0 9? ऑ+1O-ट?  -9}ट/ -?. :P? 
 

A. ==?!K? B. ल 0कᕍ@ 

C. �-?�ू D. +?/ 

 

Q84. Which of the following is not an Operating System? 
 

A. Ubuntu B. Mac 

C. Chrome D. JDK 

Q84. -0म⹍0-ि-�? /े䜂 9O ?L0 ऑ+1O-ट?  -9}ट/ 0:K :P? 
 

A. �-?�ू B. /P� 

C. ्䵅K/ D. JDK 

 

Q85. Which of the following is a non GUI operating system? 
 

A. Linux B. Unix 

C. Dos D. Mac 
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Q85. -0म⹍0-ि-�? /े䜂 9O ?L0 9? ए? 0Q0 GUI ऑ+1O-ट?  -9}ट/ :P? 
 

A. ल 0कᕍ@ B. 0-ू0कᕍ@ 

C. !I@ D. /P� 

 

Q86. ______ redundancy includes additional programs, modules, functions used to support fault 
tolerance. 

 

A. Software B. System 

C. Hardware D. Firmware 

Q86. ______ 
-?1O? /े䜂 
-?र1्䴹 �K्䵇?म⹍9 , /Q}स0Kि, ?? ]?0 ??-/ि :ै䠂 -�0?? �+0K   ि?I 9-:�,J?? ?? 9/-ु0 ?10O ?O  -िए -?0? 
�??? :P| 

 

A. @Io�=O01 B. ल@}�/ 

C. A?!/=O01 D. ,//=O01 
 

Q87. An example of a Desktop publishing software is ______ . 
 

A. QuarkXPress B. Compiler 

C. Interpreter D. Assembler 

Q87. }O}?टQ+ +-;ि-??  9Qoट=O01 ?? ए? �.?:1, :P ______| 
 

A. QuarkXPress B. �म⹍+?� 1 

C. �?�1�O�1 D. 
}@Oम⹍m 1 
 

Q88. The two techniques used for securing fault-tolerant software are the _________ . 
 

A. Fault Block Scheme and Integration Testing B. Sanitary testing and N-Version Programming 

C. Recovery Block Scheme and N- Version 

Programming 

D. Tolerant Management and Regression Testing 

Q88. ,Qल㉍ट- टQि1े䜂ट 9Q़㱸ट=O01 ?K 9J1-�? ?10O ?O  -िए �+0K  ?ी �?0O =?िI .K ??0I?े䜂  _________ :ै䠂। 
 

A. ,Iल㉍� m I� 0K?0? �1 �?�I्䵇O>0 �O�}�?� B. @O0O�1I �O�}�?� �1 ए0-=>/0 �K्䵇?ल/?� 

C. 91�=1I m I� 0K?0? �1 ए0- =?/0 �K्䵇?ल/?� D. �K O1?� /P0O?/े䜂� �1 91्䵇O>0 �O�}�?� 
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Q89. Modem stands for _______. 
 

A. Modern- Electromagnetic B. Modulator- Demodulator 

C. Modulator-Electromagnetic D. Modern-Demodulator 

Q89. /K}O/ ?? /?ि- _______ :P| 
 

A. /I!0/ - � OकᕍरK/Pगᝍ0O9�� B. /I!I O�1 - !I/K!I O�1 

C. /I!I O�1-� OकᕍरK/Pगᝍ0O9�� D. /I!0/- !I/K!I O�1 
 

Q90. Which of the following options defines the system back up? 
 

A. Copying of physical or virtual files or databases 

to a secondary location for preservation in case of 

equipment failure or catastrophe. 

B. Controls and coordinates the hardware of the 

computer using system software 

C. Uploading some of the data files to cloud. D. Using USB to copy important data. 

Q90. -0म⹍0 /े䜂 9O ?L0 9? -=?ल㉍+ -9}ट/ -P?
+ ?K +र1.?-}? ?1?? :P? 
 

A. �+�1+ �I ==, ,? 0? ,-?AI �I �}--, /े䜂, @?1ि+ �O  
ल ए .L-,� 0? �.?@I फ?� ो䬂 0? !O�?-O@ �I, ए� द♍==,I0� 

}-?0 +1 �-,ल =+ -0?0?| 

B. ल@}�/ @Io�=O01 �? �+0K� �1�O  �? o0�ू1 �O  A?!/=O01 �K 
-00?-}, �1,? AP �1 @/m=0 �1,? AP 

C. कᕍ ?�! +1 �I � !O�? फ?� ो䬂 �K 
+ K! �10?। D. /Aत⑍=++ू/ !O�? �I+I �10O �O  ल ए USB �? �+0K� �10?। 
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Q1. 

 

 

A.  B.  

C.  D.  

 

Q2. 

 

 

A.  B.  

C.  D.  

 

Q3. 
 

 

A.  B.  

C.  D.  

 

Q4. 
 

 

A.  B.  

C.  D.  

 

Q5. 
 

 

A.  B.  

C.  D.  

 

Q6. ___________ is the synonym of 'MEMORANDUM'. 
 

A. enormous B. directive 

C. extensive D. massive 
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Q7. What is the antonym of 'DIVINE'? 
 

A. heavenly B. spiritual 

C. delightful D. hellish 

 

Q8. The meaning for the idiom, 'fall on deaf ears' means: 
 

A. cannot remember B. people would not listen to 

C. to be in trouble D. find the hidden meaning 

 

Q9. The sentence has an incorrect phrase, which is shown in bold and underlined. Select the 
option that is the correct phrase to be replaced so that the statement is grammatically 
correct. 
 
Kannan jumped at the river. 

 

A. jumped into B. jumped by 

C. jumped for D. jumped in 

 

Q10. Complete the sentence by choosing the correct word from the given options. 
 
Except that Govind is short-sighted, he is ___________. 

 

A. inept for the post B. weak for the post 

C. fit for the post D. not eligible for the post 

 

Q11. Who was the Prime minister of Britain, when India became Independent? 
 

A. Clement Attlee B. Lord Mountbatten 

C. Robert Clive D. Lord McCaulay 

Q11. �- .?1, }=,�्䵔 Aु� �@ @/0 }?�O0 �O  ्䵚/?0/�्䵔I �L0 -O? 
 

A. कᕍ;O/े䜂� ए�;I B. ;Iरき) /?�� �-O�) 

C. 9I-�) कᕍ;?�= D. ;Iरき) /P�?;O 
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Q12. ______________ is the Indian-American, who shared the Nobel Prize for Economics, 
2019. 

 

A. Varun Banerjee B. Abhijit Banerjee 

C. Amartya Sen D. Raghuram Rajan 

Q12. ___________.?1,I0-
/Oर1�ी AP, }�mAK0O 2019 �O  }िए 
-थ>?ኚ验 �? 0K-Oि +J1}�?1 @?�? }�0? AP। 
 

A. =y+ -)}I B. 
भ?}I, -)}I 

C. 
/}M) 9O) D. 9 I9?/ 9?}) 

 

Q13. The longest river of south India is ____________. 
 

A. Cauvery B. Godavari 

C. Mahanadi D. Krishna 

Q13. .}?+ .?1, �ी @-@O िम⹍-I 0.I _________ AP। 
 

A. �?=O9I B. �K.?=9I 

C. /:?).I D. �ृ�+? 
 

Q14. Indian Parliament passed the SPG amendment bill recently. What does SPG stand for? 
 

A. Standard Police Group B. Sensitive Protection Group 

C. Special Police Group D. Special Protection Group 

Q14. .?1,I0 @�@. 0O A?ि AI /े䜂 ए@+I�I @�>K/0 }=/O0� +?र1, }�0? -?। ए@+I�I �? 
@�}?्䵎 रあ+ ]0? AP? 
 

A. }�Poरきरき) +Iभ;9 ्䵇I+ B. 9े䜂भ9��= �K�Oकᕍ>) ्䵇I+ 

C. }+O>; +Iभ;9 ्䵇I+ D. }+O>; �K�Oकᕍ>) ्䵇I+ 

 

Q15. International Human Rights Day is observed on ________. 
 

A. 10th December B. 8th October 

C. 5th December D. 1st July 
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Q15. 
�,1?थ�रI0 /?0=?}/�?1 }.=@ ________ �K /0?0? �?,? AP। 
 

A. 10 �.9�-9 B. 8 
कᕍ�ू-9 

C. 5 �.9�-9 D. 1 }I;?� 
 

Q16. Where was the epic battle between the Kauravas and the Pandavas, held in Haryana? 
 

A. Karnal B. Yamunanagar 

C. Panipat D. Kurukshetra 

Q16. �L1=K �1 +?�!=K �O  -I� /A?0 0J्䵍 Aर10?+? /े䜂 �A?? Aु� -?? 
 

A. �9)?; B. M/I)?)�9 

C. +?)I+, D. �I y�O} 
 

Q17. Who lost the first battle of Tarain? 
 

A. Prithvi Raj Chauhan B. Firoz Shah Tuglaq 

C. Muhammad Ghori D. Muhammad Adil Shah 

Q17. ,1?�0 �ी +AिI ि)?� /े䜂 }�@�ी A?1 Aु� -I? 
 

A. +mृ=I 9?} �L:?) B. +?9K} >?: ,I�;� 

C. /I:म⹍/. �K9I D. /I:म⹍/. ��.; >?: 
 

Q18. The Election Commission recognized which party as a state party of Haryana in December 
2019? 

 

A. Jan Lok Dal B. Aam Aadmi Party 

C. Jannayak Janta Party D. Jan Kalyan Party 

Q18. �J0?= �0K� 0O }.@�-1 2019 /े䜂 }�@ +?�I �K Aर10?+? 1?जᱍ0 �ी +?�I �O  रあ+ /े䜂 /?m0,? ्䵚.?0 �ी? 
 

A. }) ;K� .; B. �/ �./I +?�I 

C. }))?M� }),? +?�I D. }) �ल㉍M?+ +?�I 
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Q19. Which wrestler won gold medal in the Senior Wrestling National Championship held in 
November 2019? 

 

A. Vinesh Phogat B. Nitu Sarkar 

C. Anju Kumari D. Kavita Devi 

Q19. 0=�-1 2019 /े䜂 �0K}�, @I}001 1O@}ि�� 0O>0ि �P}म⹍+00}>+ /े䜂 }�@ +Aि=?0 0O }=+थ +.� �I,? -?? 
 

A. ==)O> ?K�� B. )I�ू 99�?9 

C. 
�}ू �I /?9I D. �==,? .O=I 
 

Q20. Vishnu Manjhu of Haryana gets state youth award for __________. 
 

A. studies B. sports 

C. working towards upliftment of women D. social work 

Q20. Aर10?+? �O  }=�+J /��J �K __________ �O  }िए 1?जᱍ0 0J=? +J1}�?1 }/ि? AP। 
 

A. 
oM) B. �O; 

C. /�:;?�� �O  �}-?) �I �.>? /े䜂 �?/ �9)O D. 9?/?�}� �?M) 
 

Q21. How many seats were won by Congress party in Haryana Legislative Assembly election 
2019? 

 

A. 31 B. 32 

C. 34 D. 30 

Q21. Aर10?+? }=/?0 @.? �J0?= 2019 /े䜂 �?�्䵇O@ +?�I 0O }�,0I @I�े䜂 �I,I -K? 
 

A. 31 B. 32 

C. 34 D. 30 

 

Q22. In an attempt to "Beat The Plastic Pollution" and motivate people to stop using single-use 
plastic bags, a sculpture of turtle has been made with the help of 87,297 used polybags at 
____________. 

 

A. Sannihit Sarovar B. Brahma Sarovar 

C. JyotisarSarovar D. Twin Tanks 
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Q22. oि?}}�� ्䵚.J?+ @O }0+�0O ,-? िK�K �K }@��ि 0K[ oि?}�� -PिO �+0K� 0 �10O �K ्䵚Oर1, �10O �O  }िए, 87,297 oि?}}�� �O  -PिK 
�ी /.. @O ��J ए �ी /K,I _________ /े䜂 -0?� �0I AP। 

 

A. 9)))�:, 99K=9 B. }}/ 99K=9 

C. जᱍMK),99 99K=9 D. टὍ==) �ै䠂� 

 

Q23. Dip Chand Bahman was a ______ artist of Haryana. 
 

A. drama B. poetry 

C. saang D. bhajan 

Q23. .I+ ��. -A/0 Aर10?+? �O  ______ �ि?�?1 -O। 
 

A. )?�� B. >?M9I 

C. 9?�� D. ?}) 

 

Q24. Haryana Tilak a weekly newspaper is published from Rohtak in Haryana. It is published in 
which language? 

 

A. Punjabi B. Haryanvi 

C. Hindi D. Urdu 

Q24. "Aर10?+? },ि�" ए� @?्䵎?}A� @/?�?1 +्䵔 AP, �K �ी 1KA,�, Aर10?+? @O ्䵚�?}>, AK,? AP। 0A @/?�?1 +्䵔 }�@ .??? /े䜂 ्䵚�?}>, 
AK,? AP। 

 

A. +�}?-I B. :99M?+=I 

C. �:�.I D. �.ू) 
 

Q25. Ratnavali and Priyadarshika are the famous comedies in classical style written by 
___________. 

 

A. Raja Nahar Singh B. Muhammad Ghori 

C. Harshavardhana D. Prithviraj Chauhan 
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Q25. 1m0?=िI �1 }्䵚0.}>थ�? >?ኚ验I0 >PिI /े䜂 ्䵚}@्䵍 A?}0-}0�_0 Aै䠂। �0�O  1}�0,?___________ AP। 
 

A. 9?}? )?:9 भ9�: B. /I:म⹍/. �K9I 

C. :})=})) D. +mृ=I9?} �L:?) 

 

Q26. Prithviraj Raso was written by ___________. 
 

A. Babu Balmukund B. Saint Nischal Das 

C. Chand Bardai D. Chauranginath 

Q26. ्䵚m=I1?� 1?@K __________�O  ्䵛?1? }ि�I �� AP। 
 

A. -?-I -?;/I�I� . B. 9�, ))��;.?9 

C. ��. -9.?� D. �L9m�I)?- 

 

Q27. Aravalli hills lies in _______ part of Haryana. 
 

A. northern B. southern 

C. eastern D. western 

Q27. 
1?=िI �ी +A?})0?? Aर10?+? �O  _______ .?� /े䜂 }}-, Aै䠂। 
 

A. �्䵈9I B. .्䵌�+ 

C. +=ूI D. +���/I 
 

Q28. Which amongst the following is also a wild life sanctuary? 
 

A. Bhindawas Lake B. Brahma Sarovar 

C. Hathnikund Lake D. Karnal Sarovar Lake 

Q28. }0म⹍0}ि}�, /े䜂 @O �L0 ए� =m0 �I=0 
.0?1o0 .I AP? 
 

A. भ?�रき?=?9 �I; B. }}/ 99K=9 

C. :--)I�I� रき �I; D. �9)?; 99K=9 �I; 
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Q29. River Ghaggar enters which district of Haryana? 
 

A. Panipat B. Faridabad 

C. Rewari D. Pinjore 

Q29.  _�1 0.I Aर10?+? �O  }�@ }�िO /े䜂 ्䵚=O> �1,I AP? 
 

A. +?)I+, B. ?9I.?-?. 

C. 9O=?)I D. =+�}L9 
 

Q30. Which amongst the following is the third tier of Panchayati Raj in Haryana? 
 

A. Gram Panchayat B. Panchayat Samiti 

C. Village Council D. Zila Parishad 

Q30. Aर10?+? /े䜂 +��?0,I 1?� �ी ,I@1I ्䵦O+I }0म⹍0}ि}�, /े䜂 @O �L0 @I AP? 
 

A. ्䵇?/ +��?M, B. +��?M, 9भ/), 

C. ्䵇?/ 9?? D. �};? +99}. 
 

Q31. High court of Haryana is located in _________. 
 

A. Ambala B. Chandigarh 

C. Gurugram D. Faridabad 

Q31. Aर10?+? 1?जᱍ0 �? �चᩍ� m0?0?ि0 _________ /े䜂 }}-, AP। 
 

A. 
�-?;? B. ��रきI�? 

C. �Iy्䵇?/ D. ?9I.?-?. 
 

Q32. As on 1 January 2020, who is the speaker of Haryana Vidhan Sabha? 
 

A. Shri Gian Chand Gupta B. Shri Varun Chaudhary 

C. Dr. Raghuvir Singh Kadian D. Shri Ranbir Singh Gangwa 
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Q32. 1 �0=1I 2020 �K, Aर10?+? }=/?0@.? �O  }+I�1 �L0 Aै䠂? 
 

A. ्䵦I _?) ��. �Io,? B. ्䵦I =y+ �L}9I 

C. रきI 9 I=I9 भ9�: �?�.M?) D. ्䵦I 9+-I9 भ9�: ���=? 
 

Q33. Surajkund crafts mela is held in which district of Haryana every year? 
 

A. Gurugram B. Hisar 

C. Faridabad D. Rewari 

Q33. @K1��J� ! }>ल㉍+ /Oि? A1 @?ि Aर10?+? �O  }�@ }�िO /े䜂 �0K}�, }�0? �?,? AP? 
 

A. �Iy्䵇?/ B. �:9?9 

C. ?9I.?-?. D. 9O=?)I 
 

Q34. Mughal Paintings are found in _______ district of Haryana. 
 

A. Rohtak B. Pinjore 

C. Hisar D. Sirsa 

Q34. /J�ि +े䜂}��_@ Aर10?+? �O  _______ }�िO /े䜂 +?0I �?,I Aै䠂। 
 

A. 9K:,� B. =+�}L9 

C. �:9?9 D. भ999? 
 

Q35. Kalesar National Park has a famous temple dedicated to _______. 
 

A. Lord Brahma B. Lord Shiva 

C. Lord Buddha D. Lord Mahavira 

Q35. �िO@1 0O>0ि +?�थ  /े䜂 _______ �K @/}+थ, ए� ्䵚}@्䵍 /�}.1 }}-, AP। 
 

A. ?�=?) }}/? B. ?�=?) भ>= 

C. ?�=?) -Iद♍} D. ?�=?) /:?=I9 
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Q36. BIOS stands for ______. 
 

A. Bit-initiated Operating System B. Basic Input / Output System 

C. Basic Initial Operating System D. Bandwidth Initiated Output System 

Q36. BIOS �? 
@�}?्䵎 रあ+ ______. 
 

A. --�-�))भ9MO�Oरき ऑ+9O���� भ9}�/ B. -Oभ9� �)+I�/ ���+I� )रき=?�9 

C. -Oभ9� �))भ>M; ऑ+9O���� भ9}�/ D. -ै䠂रき==ड⅍- �))भ9MO�Oरき ���+I� भ9}�/ 

 

Q37. Which of the following activities is NOT a part of Process management of the Operating 
System? 

 

A. Scheduling processes and threads on the CPUs. B. Assigning memory to processes. 

C. Creating and deleting both user and system 

processes. 

D. Providing mechanisms for process 

synchronization. 

Q37. }0म⹍0}ि}�, /े䜂 @O �L0 @I �},}=}/0?? ऑ+1O}��� }@}�/ �ी ्䵚}ि0? ्䵚-�/0 �? }A}@? 0AK AP? 
 

A. 9I+IM ू+9 ))}?)9+ �+िM? �9 }Oड⅍9। B. �+िM?�� �K /O/K9I 
9?�) �9)?। 

C. �+MK��,?) �9 भ9}�/ �+िM? .K)ो䬂 �K +िए� ,-? )रき;I� 
�9)?। 

D. �K9O9 भ9�िK)?�}O>) �O  भ;ए ,�} �.?) �9)?। 

 

Q38. Which of the following statements is NOT TRUE about video cards? 
 

A. Video card is attached to the motherboard. B. Video card controls and calculates an image's 

appearance on the screen. 

C. Video card enhances the output of images but 

does not accelerate the video throughput. 

D. Video card is also known as Graphics Card. 

Q38. }0म⹍0}ि}�, /े䜂 @O �L0 @? �-0 =I}!0K �?!थ �O  -?1O /े䜂 @m0 0AK AP? 
 

A. =I)रきMK �?रき) /.9-Kरき) 9O }I)? :K,? :P। B. =I)रきMK �?रき) }िI) +9 �== �I �+�}-), �? ))M�}+ ,-? 
�+)? �9,? :P। 

C. =I)रきMK �?रき) �==Mो䬂 �O  ���+I� �K -??,? :P ;O+�) =I)रきMK 
}+ूI� �K �), �.?) ):I� �9,? :P। 

D. =I)रきMK �?रき) �K ्䵇?+?कᕍ9 �?रき) �O  z+ /े䜂 ?I }?)? }?,? :P। 
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Q39. ________ is a standard Internet protocol for transmitting files between computers on the 
Internet over TCP/IP connections. 

 

A. Hyper Text transfer Protocol (HTTP) B. Internet Protocol Security (IPSec) 

C. Fiber to Home (FTTH) D. File Transfer Protocol (FTP) 

Q39. ____________ ए� /?0� ���10O� ्䵚K�K�Qि AP, �K TCP/IP �0O]>0 �O  ्䵛?1? ���10O� +1 �� o0K�1K �O  -I� फ?�िK �K 
}-?0?�,र1, �1,? AP। 

 

A. :?�+9 �Oकᕍ}� टὍ?�9?9 �K�K�I; (HTTP) B. ���9)O� �K�K�I; 9भ9कᕍM9ू9�I (IPSec) 

C. ??�-9 �ू :K/ (FTTH) D. फ?�; टὍ?m9?9 �K�K�I; (FTP) 

 

Q40. Pick the odd one out: 
Nylon, Teflon, Polyester, Cotton 

 

A. Nylon B. Teflon 

C. Polyester D. Cotton 

Q40. -O/Oि }=�ल㉍+ �K �J}0ए: 
0?0िQ0, �Ooि?0, +Q}िए}�1, �+?@ 

 

A. )?M;I) B. �Oo;?) 

C. +Iभ;ए}�9 D. �+?9 

 

Q41. Rich: Poor 
 

A. Talk : Whisper B. Sing: Dance 

C. Better: Worse D. Quiet : Peace 

Q41. Rich: Poor 
 

A. Talk : Whisper B. Sing: Dance 

C. Better: Worse D. Quiet : Peace 
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Q42. What is the next letter in the series? 
BIM, LSW, VCG, ______? 

 

A. CGK B. FMQ 

C. RVZ D. KOS 

Q42. ्䵦��ि? �? 
�ि? 
?1 �L0@? AP?BIM, LSW, VCG, ______? 
 

A. CGK B. FMQ 

C. RVZ D. KOS 

 

Q43. If '+' means '-'; '-' means '+' and 'x' means '-'; then 
30 - 16 + 5 x 4 - 3 = ? 

 

A. 40 B. 50 

C. 36 D. 97 

Q43. 0}. '+' �? 
-थ '-'; '-' �? 
-थ '+' �1 'x' �? 
-थ '-'; ,- 

30 - 16 + 5 x 4 - 3 = ? �? /?0 ]0? AK�?? 
 

A. 40 B. 50 

C. 36 D. 97 

 

Q44. Simplify 3/7 of 5/13 of 6/7 of 3822 
 

A. 510 B. 540 

C. 600 D. 580 

Q44. 3/7 of 5/13 of 6/7 of 3822 �K @1ि �ी}�0O। 
 

A. 510 B. 540 

C. 600 D. 580 

 

Q45. The selling price of a Saree is Rs. 600. What is the price of the Saree after successive 
discount of 10% and 5%? 

 

A. Rs.528 B. Rs.550 

C. Rs.597 D. Rs.513 
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Q45. ए� @?)I �? }=ि0 /Kल㉍0 600 रあ+ए AP। 10% �1 5% �ी ि}/� �K � �O  -?. @?)I �ी �ी/, ]0? AK�I? 
 

A. Rs.528 B. Rs.550 

C. Rs.597 D. Rs.513 

 

Q46. What percent of numbers from 1 to 25 have 2 or 4 in the unit's digit? 
 

A. 24% B. 25% 

C. 30% D. 20% 

Q46. 1 @O 25 ,� �ी @�_0?� � /े䜂 @O }�,0I ्䵚},>, @�_0?� � �O  ��?� 
�� /े䜂 2 
-=? 4 AP? 
 

A. 24% B. 25% 

C. 30% D. 20% 

 

Q47. Two numbers are in the ratio 3:5. If 5 is subtracted from each, the new numbers are in the 
ratio 4:10. Find the smaller number. 

 

A. 12 B. 6 

C. 9 D. 3 

Q47. .K @�_0?ए? 3:5 �O  
0J+?, /े䜂 Aै䠂। 0}. ्䵚m0O� @�_0? /े䜂 @O 5  �?0? �?,? AP, ,K 0� @�_0?� � �? 
0J+?, 4:10 AK �?,? Aै䠂। �K�I 
@�_0? _?, �ी}�ए। 

 

A. 12 B. 6 

C. 9 D. 3 

 

Q48. Among the following options, which one is the best conductor of electricity? 
 

A. Teflon B. Sand 

C. Pure silver D. Lead 

Q48. }0म⹍0}ि}�, }=�ल㉍+K /े䜂 @O, �L0 @? }=�ल㉍+ }-�िI �? @-@O 
चᩍ�? @J�?ि� AP? 
 

A. �Oo;?) B. 9O, 

C. >Iद♍} �??.I D. ;Oरき 
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Q49. Which chemical element is indicated as "Sb"? 
 

A. Seaborgium B. Tin 

C. Antimony D. Lead 

Q49. }�@ "Sb" }�@ 1?@?0}0� ,m= �? @K�� AP? 
 

A. 9I-K�})M/ B. ��) 

C. ए��I/)I D. ;Iरき 
 

Q50. Lack of the hormone ______ leads to Diabetes. 
 

A. Estrogen B. Cortisol 

C. Prolactin D. Insulin 

Q50. ______ A?/K0 �ी �/I @O //J/OA AK,? AP। 
 

A. ए}टὍK}O) B. �K��)9K; 

C. �K;P�कᕍ�) D. ��9Iभ;) 

 

Q51. What does 'DAC' stand for in system security? 
 

A. Direct Access Control B. Discretionary Access Control 

C. Digital and Analog Control D. Digital to Analog Convertor 

Q51. }@}�/ @J1?? /े䜂 DAC '�? ]0? 
-थ AP? 
 

A. रき?M9Oकᕍ� एकᕍ9O9 �� टὍK; B. )रき�}ि>)9I एकᕍ9O9 �� टὍK; 

C. )रき�}�; �9 ए)?;I� �� टὍK; D. )रき�}�; 9O ए)?;I� �m=�)9 
 

Q52. A ______ is a classical access enforcement mechanism in operating system architecture. 
 

A. Reference Monitor B. Authorization Module 

C. Policy Store D. Kernel 
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Q52. ए� ______ ,ऑ+1O}��� }@}�/ �}�थ �O]�1 /े䜂, ए� ]ि?}@�ि ए]@O@ ्䵚=,थ0 ,�्䵔 AP। 
 

A. 9O?9Om9 /I))�9 B. �?-}�9+ /Iड⅍M;ू 

C. +Iभ;9I }�K9 D. �)े; 

 

Q53. In _____ system, a unique password is required every time a user tries to login into the 
system. 

 

A. Authorisation B. Authentication 

C. One Time Password D. Password 

Q53. _____ ्䵚+?िI /े䜂, �+0K��,?थ ्䵛?1? }@}�/ /े䜂 िQ}�0 �10O �ी �K}>> �10O +1 A1 -?1 ए� 
}्䵛,I0 +?@=!थ �ी �=�0�,? AK,I AP| 
 

A. �?-}�9+ B. �/?+I�9+ 

C. ए� -?9 �},O/?; +�MO }?)O =?;? +?9=रき) D. +?9=रき) 
 

Q54. In Unix/Linux _____ is the command and system call which is used to change the access 
permissions of file/directory. 

 

A. chmod B. chown 

C. chgrp D. chattr 

Q54. 0K}0]@ / }ि0]@ /े䜂 _____ �/?�! �1 }@}�/ �Qि AP }�@�? �+0K� फ?�ि / !?01O]�1I, �ी ए]@O@ 
0J/},0K �K -.ि0O �O  }िए, 
}�0? �?,? AP| 

 

A. chmod B. chown 

C. chgrp D. chattr 

 

Q55. What do you call the unsolicited Emails received from false address? 
 

A. Bulk Emails B. Spam Emails 

C. False Emails D. Threat Emails 

Q55. �K O +,O @O ्䵚?्䵎 
0�?AI �/Oि �K �+ ]0? �A,O Aै䠂? 
 

A. -ल㉍� �/O; B. }+P/ �/O; 

C. ??ल㉍9 �/O; D. }O� �/O; 
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Q56. _____ is a program designed to infiltrate and damage computers without owner's approval. 
 

A. Software B. Hardware 

C. Firmware D. Malware 

Q56. _____ ए� ्䵚K्䵇?/ AP, �K }-0? /?}ि� �ी }=I�L }, �O  }-0?, �� o0K�1K /े䜂  J@+P  �10O �1 ?}, +Aु?�?0O �O  }िए, -0?0? �0? AP। 
 

A. 9Io�=OM9 B. :?रき)=OM9 

C. ?/)=OM9 D. /?;=OM9 
 

Q57. Which of the below options is not a computer virus? 
 

A. Capripox Virus B. Resident Virus 

C. Polymorphic Virus D. Direct Action Virus 

Q57. }0म⹍0 /े䜂 @O �L0 @? }=�ल㉍+ �� o0K�1 =?01@ 0AK AP? 
 

A. �P =�+Iकᕍ9 =?M99 B. 9O�}रきे䜂� =?M99 

C. +K;I/I+?)� =?M99 D. रき?M9Oकᕍ� एकᕍ>) =?M99 

 

Q58. There is a visual indication of ____ ribbon in the documents with invisible digital 
signatures. 

 

A. Blue B. Red 

C. Black D. Brown 

Q58. 
द♃�0 }!}��ि A},??1 =?िO .},?=O�K /े䜂 ____ र1-0 �? ए� द♃�0 @��O , AP। 
 

A. )I;? B. ;?; 

C. �?;? D. ?9ू? 
 

Q59. _____ is a character encoding standard also referred to as ASCII. 
 

A. African Standard Code for Internet Interchange B. American Standard Code for Internet 

Interchange 

C. American Standard Code for Information 

Interchange 

D. African Standard Code for Information 

Interchange 
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Q59. ____ ए� ]0?1O]�1 एm�K}!�� }�ै䠂!!थ AP }�@O ASCII .I �A? �?,? AP| 
 

A. 
�I�) }�ै䠂रきरき) �Kरき ?I9 ���9)O� ���9�े䜂} B. 
/O99�) }�ै䠂रきरき) �Kरき ?I9 ���9)O� ���9�े䜂} 

C. 
/O99�) }�ै䠂रきरき) �Kरき ?I9 �)??/े>) ���9�े䜂} D. 
�I�) }�ै䠂रきरき) �Kरき ?I9 �)??/े>) ���9�े䜂} 

 

Q60. Which of the below is not a Logical Operator? 
 

A. AND B. OR 

C. XDRD D. XOR 

Q60. �0/O @O �L0 @? िQ}��ि ऑ+1O�1 0AK AP? 
 

A. AND B. OR 

C. XDRD D. XOR 

 

Q61. Which of the below is an input peripheral device? 
 

A. Printer B. Scanner 

C. Projector D. Speakers 

Q61. �0/O @O �L0 @? �0+J� +र1/I0 �+�1+ AP? 
 

A. =���9 B. }�P )9 

C. �K}Oकᕍ�9 D. }+I�9 
 

Q62. 'Modem' , a very popular computer peripheral is categorized as '_______' device. 
 

A. Input B. Output 

C. Input/output D. Storage 

Q62. '/K!O/', ए� -Aु, AI िK�}्䵚0 �� o0K�1 +र1/I0 �K '_________' }!=?�@ �O  रあ+ /े䜂 =�I�L , }�0? �0? AP| 
 

A. �)+I� B. ���+I� 

C. �)+I� /���+I� D. }�K9O} 
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Q63. The install is a self compressed executable file that when you run will extract itself and 
contains all of the files needed to run your installation. 
Which type of software installation can BEST fit the above statement? 

 

A. Media based software installation B. Web based software installation 

C. Single exe installation D. Windows Installer installation 

Q63. ��}�Qि ए� }=0� @��J }�, ए]@O]0K�-ि फ?�ि AP, }�@O �- �+ �ि?,O Aै䠂, ,K �J. �K }0�?ि .O,? AP �1 }�@/O �+�ी }-?+0? �K 
�ि?0O �O  }िए �=�0� @.I ,?�िे䜂 >?}/ि Aै䠂| 
�+1K्䴹 �-0 �O  }िए �L0 @? @Q़㱸�=O01 ��}�QिO>0 @-@O 
चᩍ�? },� AK @�,? AP? 

 

A. /I)रきM? �}?99, 9Io�=OM9 }-?+) B. =O- �}?99, 9Io�=OM9 }-?+)? 

C. भ9��; exe }-?+)? D. ==�रきK} ��}�I;9 }-?+)? 
 

Q64. In ________, the 'ghost' is created with the complete contents of the computer which are 
then reinstalled in case of data loss or corruption. 

 

A. Imaged Installation B. Software-assisted installation 

C. Scripted installation D. Manual software installations 

Q64. _______ /े䜂, ' K}�' �K �� o0K�1 �ी +K1I @?/्䵇I �O  @?- -0?0? �0? AP, �K !O�? A?}0 0? }्䵖?�?1 AK0O +1, },1 @O }-?}+, }�0? �?,? 
AP। 

 

A. �/O}रき ��}�I;O>) B. 9I़㱸�=OM9-9/--), ��}�I;O>) 

C. �}िo�Oरき ��}�I;O>) D. /P)I
; 9Io�=OM9 ��}�I;O>) 

 

Q65. What is the popular path where system engineer creates a home folder for the new 
software before starting software installation on windows operating systems? 

 

A. D:/Program Files B. C:\Program Files 

C. E:\Program Files D. F:/Program Files 

Q65. =A िK�}्䵚0 +- ]0? AP �A?� }@}�/ ���I}001 }=�!K[ ऑ+1O}��� }@}�/ +1 @Q़㱸�=O01 ��}�QिO>0 >Jरあ �10O @O +AिO 0ए @Q़㱸�=O01 �O  
}िए ए� AK/ फKल㉍!1 -0?,? AP? 

 

A. D:/Program Files B. C:\Program Files 

C. E:\Program Files D. F:/Program Files 
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Q66. Where does the user prefers to place the shortcuts of the newly installed software in 
windows operating system? 

 

A. Desktop B. C Drive 

C. Documents D. Favorites 

Q66. �+0K��,?थ, }=�!K[ ऑ+1O}��� }@}�/ /े䜂, 0ए ��}�Qि }�ए �ए @Q़㱸�=O01 �O  >Q�थ�� �K, �A?� 1�0? +@�. �1,? AP? 
 

A. रきO}��I+ B. C ्䵑?�= 

C. रきIकᕍMI/े䜂टὍ9 D. ?O =I9�टὍ9 

 

Q67. In software engineering, the process of locating and fixing a bug in the programme is 
called _______ . 

 

A. Testing B. Processing 

C. Running D. Debugging 

Q67. @Qo�=O01 ���I}00र1�� /े䜂, ्䵚K्䵇?/ /े䜂 -� �K �K�0O �1  I� �10O �ी ्䵚}ि0? �K _______ �A? �?,? AP। 
 

A. �O�}��� B. �K9Oभ9�� 

C. 9))�� D. )रき--��� 

 

Q68. The _______ sets up an encrypted link for secure data communication with the help of 
Secure Software Layer or Transport Layer security. 

 

A. Hypertext Transfer Protocol Secure B. Secure Shell 

C. IPsec D. File Transfer Protocol 

Q68. _______ }@]0K1 @Qo�=O01 िO01 0? र?�@+K�थ िO01 @J1?? �ी /.. @O @J1}?, !O�? @��?1 �O  }िए ए� ए}mिo�O! }ि�� }-?}+, �1,? 
AP| 

 

A. :?�+9�Oकᕍ}� टὍ?�9?9 �K�K�I; भ9कᕍMK9 B. भ9कᕍMK9 >O; 

C. IPsec D. फ?�; टὍ?�9फ9 �K�K�I; 

 
 
 
 

www.mseducationtv.com



 

Adv. No. 11/2019, Cat No. 01, Junior System Engineer, 

DHBVN, UHBVN & HVPNL DEPARTMENT, HARYANA 

Evening Session 
 

February 27, 2020  Page 20 of 26 

 

Q69. During debugging software if a user wants to halt at a particular line of code, what should 
he do? 

 

A. Halt manually B. Add a watch 

C. Put a breakpoint D. Exit the debugger 

Q69. @Qo�=O01 }!-}��� �O  .L1?0 0}. �K� �+0K��,?थ }�@I }=>O? ि?�0 �K! �K 1K�0? �?A,? AP, ,K �@O ]0? �10? �?}Aए? 
 

A. /PmMI
; z+ 9O :Iल㉍� �9े䜂 B. ए� =I� }K)े䜂 

C. }O�+I��� ;�?ए� D. )रき-�9 9O -?:9 ))�;े䜂 
 

Q70. Which of the below options is not a debugging tool? 
 

A. Eclipse B. Valgrind 

C. WinDbg D. Geany 

Q70. 0I�O }.ए �ए }=�ल㉍+K /े䜂 @O �L0 }!-}��� �Kि 0AK AP? 
 

A. Eclipse B. Valgrind 

C. WinDbg D. Geany 

 

Q71. Antivirus does not protect computers from _______. 
 

A. power failure B. computer Worms 

C. spyware D. keyloggers 

Q71. ए��I=?01@__________ @O �� o0K�1 �ी @J1?? 0AK �1,? AP| 
 

A. --};I �I ==?;,? B. �� oM�ू9 =म⹍9) 

C. }+?�=OM9 D. �I;Kगᝍ�9) 
 

Q72. If your computer is attacked by a virus then it can do all the below damages except _____. 
 

A. damage or delete files B. data loss 

C. slow down the computer D. damage the input or output devices 
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Q72. 0}. �+�O  �� o0K�1 +1 =?01@ �? A/ि? AK,? AP, ,K 0A ______ �K �K)�1 @.I 0J�@?0 �1 @�,? AP| 
 

A. फ?�;ो䬂 �K )I�9?) +:I?�?)? M? :�?)? B. रきO�? :?)) 

C. �� oM�ू9 �K }I/? �9 .O)? D. �)+I� M? ���+I� )रき=?�9 �K )I�9?) +:I?�?)? 
 

Q73. A network security device that monitors the traffic and filter network traffic based on 
security rules is _______ . 

 

A. Firewall B. Threat 

C. Vulnerability D. Attack 

Q73. ए� 0O�=�थ  @J1?? �+�1+ �K, @J1?? }00/K �O  �/?1 +1 0?,?0?, �1 }फल㉍�1 0O�=�थ  0?,?0?, �ी, }0�1?0I �1,? AP, _______ 

AP| 
 

A. फ?M9=I; B. }/�I 

C. ?Oद♍M,? D. :/;? 
 

Q74. Out of the below mentioned scans, which takes the maximum time to scan? 
 

A. Full Scan B. Half Scan 

C. Custom Scan D. Quick Scan 

Q74. 0I�O }.ए �ए }�P 0 /े䜂 @O, }�P 0 �10O /े䜂 @-@O 
}/�,/ @/0 �L0 @? िO,? AP? 
 

A. ++ू) }�P ) B. �}? }�P ) 

C. �}�/ }�P ) D. }=99, }�P ) 

 

Q75. Which among the following, the user should not do to avoid the virus entering via Email? 
 

A. Take caution when opening graphics and media 

attachments. 

B. Disable message preview in your email client. 

C. Make sure your computer has updated anti-

virus software running 

D. Downloading executable or documents from 

the internet 
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Q75. }0म⹍0}ि}�, /े䜂 @O �L0 @?,�+0K��,?थ �/Oि �O  /?o0/ @O ्䵚=O> �10O =?िO =?01@ @O -�0O �O  }िए, 0AK �10? �?}Aए? 
 

A. ्䵇?+?कᕍ9 �9 /I)रきM? 
�P�/े䜂� �K;,O 9/M 9?=}?)I -9,े䜂। B. 
+)O �/O; कᕍ;?��� /े䜂 /P9O} �I}Mू 
�/ �9े䜂। 

C. 9I))���, �9े䜂 +� �+�O  �� oMू�9 /े䜂 ए��I-=?M99 9I़㱸�=OM9 
�K 
+रきO� +�M? :P 

D. ���9)O� 9O ))�+?.) MKगᝍM M? .},?=Oज᰼ रき?�);Kरき �9)? 

 

Q76. Windows Operating system is an example of _____ software. 
 

A. application software B. system software 

C. package software D. custom software 

Q76. }=�!K� ऑ+1O}��� }@}�/ _____ @Qo�=O01 �? ए� �.?A1+ AP। 
 

A. एo;I�O >) 9Io�=OM9 B. भ9}�/ 9Io�=OM9 

C. +P�O } 9Io�=OM9 D. �}�/ 9Io�=OM9 
 

Q77. Why is System software called Low-level software? 
 

A. System software runs on a system with low 

power. 

B. System software is written in high level 

languages to interact with machine software and 

runs in the computer at advanced level. 

C. System software is written in low level 

languages to interact with hardware and runs in 

the background at basic level. 

D. System software takes lower time to load. 

Q77. }@}�/ @Qo�=O01 �K }0म⹍0-},1I0 @Qo�=O01 ]0K �A? �?,? AP? 
 

A. भ9}�/ 9Io�=OM9 �/ +?=9 =?;O भ9}�/ +9 �;,? :P। B. भ9}�/ 9Io�=OM9 �K �चᩍ� },9IM ??}?�� /े䜂 भ;�? }?,? :P 
,?+� />I) 9Io�=OM9 �O  9?- -?,�I, �I }? 9�O  �9 �� oM�ू9 
�K �m), },9 +9 �;?M? }? 9�O । 

C. भ9}�/ 9Io�=OM9 ))म⹍) },9 �I ??}?�� /े䜂 :?रき)=OM9 �O  
9?- -?,�I, �9)O �O  भ;ए भ;�? }?,? :P �9 /;ू },9 +9 
+�ृ ?भू/ /े䜂 �;,? :P। 

D. भ9}�/ 9Io�=OM9 �K ;Kरき :K)O /े䜂 �/ 9/M ;�,? :P। 
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Q78. Which of the following software acts as an interface between end users and hardware? 
 

A. System Software B. Custom Software 

C. Programming software D. Communication software 

Q78. }0म⹍0}ि}�, /े䜂 @O �L0 @? @Q़㱸�=O01 
�},/ �+0K��,?थ� � �1 A?!थ=O01 �O  -I� ए� ���1फO @ �O  रあ+ /े䜂 �?0थ �1,? AP? 
 

A. भ9}�/ 9Io�=OM9 B. �}�/ 9Io�=OM9 

C. �K्䵇?भ/�� 9Io�=OM9 D. �म⹍MI))�O >) 9Io�=OM9 
 

Q79. Which of the following is NOT true for System software? 
 

A. System software can run independently B. Device drivers are example of System software 

C. System software are provided by computer 

manufacturers 

D. System software is specific purpose software 

Q79. }0म⹍0 /े䜂 @O �L0 @? }@}�/ @Qo�=O01 �O  }िए @AI नही䀂 AP? 
 

A. भ9}�/ 9Io�=OM9 }=,�} z+ 9O �; 9�,? :P B. )रき=?�9 ्䵑?�=9 भ9}�/ 9I़㱸�=OM9 �? �.?:9+ :ै䠂 

C. भ9}�/ 9Io�=OM9 �� oM�ू9 ))/?),?�� द♍=?9? �.?) +�ए }?,O 
:ै䠂 

D. भ9}�/ 9Io�=OM9 ए� ==भ>�� �द♍.O�M �O  भ;ए -)?M? �M? 
9Io�=OM9 :P 

 

Q80. Robotics is an example of ______application. 
 

A. Simulation software B. Information worker software 

C. Multimedia software D. Enterprise software 

Q80. 1K-K}�]@ ______एoिI�O >0 �? ए� �.?A1+ AP। 
 

A. भ9/I;O>) 9Io�=OM9 B. �)??/े>) =�) 9 9Io�=OM9 

C. /ल㉍�I/I)रきM? 9Io�=OM9 D. ए��9�?�} 9Io�=OM9 
 

Q81. Word processing software does not include ______ . 
 

A. Notepad B. Lotus word pro 

C. Wordpad D. Keynotes 
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Q81. =!थ ्䵚K@O}@�� @Qo�=O01 /े䜂 ______ >?}/ि 0AK AP। 
 

A. )K�+Pरき B. ;K�9 =रき) �K 

C. =रき)+Pरき D. �I)KटὍ9 

 

Q82. Which type of application software is used to display information using text, pictures in 
the form of slides? 

 

A. Multimedia software B. Content Access software 

C. Presentation software D. Information Worker Software 

Q82. }ि?�! �O  रあ+ /े䜂 +? , }�्䵔K �? �+0K� �1�O  �?0�?1I ्䵚.}>थ, �10O �O  }िए }�@ ्䵚�?1 �O  ए}oि�O >0 @Q़㱸�=O01 �? �+0K� }�0? 
�?,? AP? 

 

A. /ल㉍�I/I)रきM? 9Io�=OM9 B. �� �े䜂� एकᕍ9O9 9Io�=OM9 

C. �O}े䜂�O>) 9I़㱸�=OM9 D. �)??/े>) =K+9�9 9Io�=OM9 
 

Q83. The application software which is managed remotely by an organization via a cloud by 
subscribing is known as ________ . 

 

A. Hosted application software B. Premise application software 

C. Content Access software D. Enterprise software 

Q83. ए}oि�O >0 @Q़㱸�=O01 �K @.}0,? ्䵛?1? ]ि?�! �O  /?o0/ @O }�@I @�� 0 ्䵛?1? .K1}- रあ+ @O ्䵚-�}/, }�0? �?,? AP, �@O 
__________ �O  रあ+ /े䜂 �?0? �?,? AP। 

 

A. :K}� +�M? �M? ए�o;�O >) 9I़㱸�=OM9 B. �Oभ/9 एo;I�O >) 9Io�=OM9 

C. �� �े䜂� एकᕍ9O9 9Io�=OM9 D. ए��9�?�} 9Io�=OM9 
 

Q84. Which of the following is not a feature of the Operating system? 
 

A. Handling I/O operations B. Allocation of resources 

C. Prevent authorized access D. Error handling 
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Q84. }0म⹍0}ि}�, /े䜂 @O �L0 ऑ+1O}��� }@}�/ �ी }=>O?,? नही䀂 AP? 
 

A. �� / � 9��?;) �K 9�??;)? B. 9�9?}) �? �=��) 

C. 
-}�ृ, एकᕍ9O9 �K 9K�)? D. �;,I 9�??;)? 
 

Q85. Which of the following is not a type of Operation system? 
 

A. Batch Operating system B. Distributed Operating system 

C. Time-sharing Operating system D. Real down time Operating system 

Q85. }0म⹍0}ि}�, /े䜂 @O �L0 ए� ्䵚�?1 �? ऑ+1O>0 }@}�/ नही䀂 AP? 
 

A. -P� ऑ+9O���� भ9}�/ B. ==,99, ऑ+9O���� भ9}�/ 

C. �?�/->OM99�� ऑ+9O���� भ9}�/ D. 99M; रき?�) �?�/ ऑ+9O���� भ9}�/ 

 

Q86. Which one of the following does NOT belong to the Real time operating system? 
 

A. Air traffic control system B. Missile systems 

C. Space software systems D. LOCUS system 

Q86. }0म⹍0}ि}�, /े䜂 @O �L0, र10ि �?�/ ऑ+1O}��� }@}�/ @O @�-�}/,, 0AK AP? 
 

A. 99M; �?�/ ऑ+9O���� भ9}�/ B. भ/9?�; भ9}�/ 

C. 
�,99� 9Io�=OM9 भ9}�/ D. LOCUS भ9}�/ 

 

Q87. Which one of the following is NOT an operating system? 
 

A. Ubuntu B. Windows 

C. Oxygen OS D. Trojan Horse 

Q87. }0म⹍0}ि}�, /े䜂 @O �L0 ए� ऑ+1O}��� }@}�/ 0AK AP? 
 

A. �-��ू B. ==�रきK} 

C. ऑकᕍ9I}) OS D. टὍK}) :I9) 
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Q88. Which of the following cannot be termed as software redundancy? 
 

A. Program redundancy B. Modular redundancy 

C. Functional redundancy D. Temporal redundancy 

Q88. }0म⹍0}ि}�, /े䜂 @O }�@O @Qo�=O01 
},1O� नही䀂 �A? �? @�,? AP? 
 

A. �?M)ि/ 
),9O� B. /Iड⅍M;ू9 
),9O� 

C. ?� कᕍ>); 
),9O� D. �Oम⹍+K9; 
),9O� 

 

Q89. Which of the following is true for the Recovery block scheme? 
 

A. It consists of 3 elements for a given task 

namely - primary module, acceptance tests, and 

alternate modules 

B. It consists of 4 elements for a given task 

namely - primary module, secondary module, 

acceptance tests and acceptance failure 

C. It consists of only 2 elements for a given task 

namely - primary module and acceptance tests 

D. It consists of many elements for a given task 

depending on module available and test condition 

Q89. र1�=1I mिQ� 0K�0? �O  }िए }0म⹍0}ि}�, /े䜂 @O �L0 @? @AI AP? 
 

A. �9/े䜂 �.ए �ए �?M) �O  भ;ए 3 ,}= :K,O :ै䠂 - �?-भ/� 

/Iड⅍M;ू, }=I�ृ), +9I�+ �9 =P��ल㉍+� /Iड⅍M;ू 

B. �9/े䜂 �.ए �ए �?M) �O  भ;ए 4 ,}= :K,O :ै䠂 - �?-भ/� 

/Iड⅍M;ू, द♍==,IM� /Iड⅍M;ू, }=I�ृ), +9I�+ �9 }=I�ृ), 

==?;,? 

C. �9/े䜂 �.ए �ए �?M) �O  भ;ए �O =; 2 ,}= >?भ/; :ै䠂 - 
�?-भ/� /Iड⅍M;ू �9 }=I�ृ), +9I�+ 

D. �9/े䜂 /Iड⅍M;ू �+;m} �9 +9I�+ �I �}-), �O  �}?9 +9 
+�9I �.ए �ए �?M) �O  भ;ए �� ,}= >?भ/; :ै䠂 

 

Q90. RAR is a compressed file that holds one or more other files and folders in compressed 
form. What does RAR stand for? 

 

A. Roshal Account Compressed file B. Roshal Archive Compressed file 

C. Roshal Archive Crammed file D. Roshal Account Crammed file 

Q90. RAR ए� @��J }�, फ?�ि AP �K @��J }�, रあ+ /े䜂 ए� 0? 
}/� 
m0 फ?�िK �1 फKल㉍!1K �K 1�,I AP। RAR ]0? AK,? AP? 
 

A. 9K>O; 
�?�� � �म⹍�O}रき ??�; B. 9K>; ��?)�= �म⹍�O}रき ??�; 

C. 9K>; ��?)�= ि?म⹍/रき फ?�; D. 9K>; 
�?�� � ि?म⹍/रき फ?�; 
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